
January 1, 2017

1

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

2017 product 
cAtALoG
 

irriGAtion 
technoLoGy 
for the future

AgriCulture environmentAl green industry Crop speCifiC



January 1, 2017

2

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

  

our focuS  
AGricuLturAL &  
induStriAL irriGAtion. 

our MiSSion  
SAVe WAter , SAVe  
enerGy, SAVe LABor  
& do A Better JoB 
of irriGAtinG.  

our pASSion  
peopLe And productS. 

productS MAde  
in WALLA WALLA,  
WAShinGton, u.S.A. 
2017 Marks 45 Years  
For Nelson Irrigation  
Corporation 

cAtALoG
tABLe of contentS        

2



January 1, 2017

3

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com

cAtALoG
tABLe of contentS        

Figuring out how to best grow crops for your 
particular region is very important to us. 
Nelson water application solutions take into 
account specific soil types, crop rotations 
and farming practices. Let us help you 
identify your Geocropical® needs.

3



January 1, 2017

4

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

At the heArt of the 3030 SerieS iS the 
neW 3nV nozzLe. BuiLt With the preciSion 
AccurAcy of the 3tn, thiS innoVAtiVe diAL-
nozzLe coMBineS MuLtipLe functionS So 
you cAn effectiVeLy MAnAGe your SySteM.  

 

introducinG the neW 
3030 SerieS SprinkLer

PIVOT SPRINKLERS / 3 0 3 0  S E R I E S

QuICk-ChaNGe — push & turN, audIbLe “CLICk”
staINLess steeL sprING For aCCurate  
aNd seCure posItIoNING 
Covers CoMpLete NozzLe raNGe, usING  
the saMe NuMberING aNd FLow rates  
as the 3tN NozzLe sYsteM
saMe CoLor-Codes as 3tN but odd-sIze NozzLes 
have weather-eNdurING sCaLLoped edGe

 

Great for  
sensitive soils 

ROTATOR® ACCELERATOR SPINNER

Great sprayhead  
replacement option

widest throw
highest uniformity
Low application rates

wIde throw dIstaNCe oF rotatING streaMs  
provIdes optIMaL (Low) preCIpItatIoN rates 

ROTaTOR / 70’ (21.3 m) DIam. ORaNgE PLaTE /  
#36 NOzzLE @ 20 PSI (1.4 baR)

WideSt throW on 
drop tuBeS

A fAMiLy of productS for A MuLtitude of needS
 4



January 1, 2017

5

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

 3030 
series

Multi-trajectory plates  
have Improved performance 

Great for  
sensitive soils 

SPRAYHEAD

ORBITOR

UNIVERSAL

SUPERIOR FLUSHING OPTIONS: Sequence to work debris through. 
It’s never advised to stick something in a nozzle – the 3NV 
flushes with a quick and simple turn of the nozzle. No tools 
necessary. 
“ON” aNd “OFF” caN bE SELEcTIVE: If you’re over-watering, 
or if you need to conserve water for a time, simply select the 
sprinklers you want to turn off. consider the cost savings of 
having a built-in ball valve on every sprinkler!

MAnAGe your SySteM 
Without eVer hAVinG  
to reMoVe A nozzLe. 

the u3030 body is for 
use with part-Circle 3030 
options and hose drag 
adapter. see page 13-14. 

No drift or drool &  
Less debris hang-up

wIde throw dIstaNCe oF rotatING streaMs  
provIdes optIMaL (Low) preCIpItatIoN rates 

ROTaTOR / 70’ (21.3 m) DIam. ORaNgE PLaTE /  
#36 NOzzLE @ 20 PSI (1.4 baR)

short throw dIstaNCe oF FIxed spraY  
provIdes hIGh preCIpItatIoN rates 
SPRay / 40’ (12.8 m) DIam. bLacK PLaTE / #36 NOzzLE @ 10 PSI (0.7 baR)

5

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

6

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

BeSt in cLASS At GettinG 

WAter in  
the Ground 

2

MountS 

 up top or  
on dropS

3

10 reASonS Why  
rotAtor 

®  
technoLoGy 
reiGnS
1

30 yeArS  
fieLd- 

proVen



January 1, 2017

7

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

LoW preSSure 
optionS AVAiLABLe 

(rotAtor With oLiVe  
pLAte or AcceLerAtor)

4

WideSt
   throW

diStAnce AVAiLABLe  
on dropS

6

hiGheSt 
uniforMity

7

preciSion enGineered  
& MAnufActured for  
LonG WeAr Life

8
ModuLAr deSiGn  

centered Around  

3tn & 3nV 
nozzLeS

5

10 reASonS Why  
rotAtor 

®  
technoLoGy 
reiGnS 10 GeocropicAL 

® 

SoLutionS    
for  different cropS,  SoiLS, 
fArMinG prActiceS And cLiMAtic 
conditionS ALonG With reGionAL 
differenceS in the AVAiLABiLity 
of WAter & enerGy  

9 pArt-
circLe  
VerSion 
AVAiLABLe

wINd-FIGhtING 
streaMs  
@ 6-15 psI  
(0.4-1 bar) 
(aCCeLerator)

up-top  
@ 6-15 psI  
(0.4-1 bar) 
(aCCeLerator)

wINd-
FIGhtING @ 
20-50 psI  
(1.4-3.4 bar)

hIGhest 
uNIForMItY 
@ 15-30 psI 
(1-2 bar)

Low pres- 
sure, hIGh- 
uNIForMItY  

@ 10-15 psI  
(0.7 - 1 bar)

MaxIMuM 
throw @ 
15-30 psI  
(1-2 bar)

up-top @ 
15-30 psI  
(1-2 bar)

MaxIMuM 
dIaMeter 
@ 6-15 psI  
(0.4-1 bar) 

(aCCeLerator)

nelsonirrigation.com  



January 1, 2017

8

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

10-50 psi (0.7-3.4 bar)
50-74’ (15.2-22.6 m)

R3030
ROTATOR®

A3030
ACCELERATOR

UP-TOP
OR 

dROPS

UP-TOP
OR 

dROPS

R

SEE PaGE 9 FOR PaRT-cIRcLE R3000 & PaRT-cIRcLE R3030. 

easILY CoNvert  
FroM aCCeLerator to 

spraYhead to bubbLer

OPTIONaL SPRINKLER
cONVERTER #11472

Max. #50 Noz.   
Min. #14 Noz. @
30 psi (2.0 bar)

#16 for low press.

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

Max. #50 Noz.   
Min. #14 Noz. @
30 psi (2.0 bar)

#16 for low press.

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

Max. #50 Noz.   
Min. #12 Noz. @
10 psi (0.7 bar)

bLuE uP-TOP 
u4-8° 

WhITE 
uP-TOP

gREEN 
D4-8°

RED 
D6-12° 

ORaNgE
muLTI-TRajEcTORy 

bROWN
muLTI-TRajEcTORy

OLIVE   
LOW PRESSuRE

Plate #8817 
cap/Plate assy* 

#11969-001
cap/Plate/3030 body

assy* #12471-001

Plate #10749
cap/Plate assy* 

#11969-002
cap/Plate/3030 body

assy* #12471-002

Plate #8844
cap/Plate assy* 

#11969-003
cap/Plate/3030 body

assy* #12471-003

Plate #8839
cap/Plate assy* 

#11969-004
cap/Plate/3030 body

assy* #12471-004

Plate #10598
cap/Plate assy* 

#11969-005
cap/Plate/3030 body

assy* #12471-005

Plate #10681
cap/Plate assy* 

#11969-006
cap/Plate/3030 body

assy* #12471-006

Plate #12360
cap/Plate assy* 

#11969-007
cap/Plate/3030 body

assy* #12471-007

20-50 psi
(1.4-3.4 bar)

15-30 psi
(1.0-2.0 bar)

20-50 psi
(1.4-3.4 bar)

15-30 psi
(1.0-2.0 bar)

15-30 psi
(1.0-2.0 bar)

15-30 psi 
(1.0-2.0 bar)

10-15 psi 
(0.7-1.0 bar)

Max. #50 Noz.   
Min. #10 Noz. @
10 psi (0.7 bar)

#18 @ 6 psi 

Max. #50 Noz.   
Min. #10 Noz. @
15 psi (1.0 bar) 

#12 @10 psi
#18 @ 6 psi 

Max. #50 Noz.   
Min. #10 Noz. @
15 psi (1.0 bar) 

#12 @10 psi
#18 @ 6 psi

maROON gOLD NaVy 
uP-TOP

Plate #9906
cap/Plate assy* 

#11498-001
cap/Plate/3030 body

assy* #12473-001

 
cap/Plate assy* 

#11498-002
cap/Plate/3030 body

assy* #12473-002

 
cap/Plate assy* 

#11498-003
cap/Plate/3030 body

assy* #12473-003

6-15 psi
(0.4-1.0 bar)

6-15 psi
(0.4-1.0 bar)

6-15 psi
(0.4-1.0 bar)

A

#10402 
MaROON 

accELERaTOR 
caP 

PIVOT SPRINKLERS / 3 0 3 0  S E R I E S

6-15 psi (0.4-1 bar)
30-55’ (9.1-16.8 m)

*Part numbers do not include the adapter & Nozzle that are required for a complete assembly.

*Part numbers do not include the adapter & Nozzle that are required for a complete assembly.

8



January 1, 2017

9

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

desCrIptIoN
Sprinkler 
converter See Page 14-15

part No. 11472

A3000
ACCELERATOR

cap/Plate/3000 Series body  
assy (less adapter & nozzle) 
#11973-xxx (Use -xxx from table 
on page 8 for plate specifications)

#10402 Maroon accelerator cap 

desCrIptIoN
Pc-R3000 (less 
nozzle & adpater)

10843-xxx
-001 black,  
-002 white 
-003 tan

QtY/box 150

Lbs/box 23

desCrIptIoN
Pc-R3030 (less 
nozzle & adpater)

12651-xxx
-001 black, 
-002 white
-003 tan

QtY/box  100

Lbs/box  26

R3000common Rotator® Parts R3030  

Rotator® & accelerator sprinklers come in the 3000 Series (with 3TN nozzle) or new 3030 Series (with 3NV nozzle). 

R3000
ROTATOR®

cap/Plate/3000 Series body  
assy (less adapter & nozzle) 
#11970-xxx (Use -xxx from table 
on page 8 for plate specifications)

#9539 blue Rotator cap

desCrIptIoN

3/4" mNPT x 
Square Thread 

adapter
Rotator 
Plates  

Rotator  
cap/motor 

Rotator  
cap/Plate  

assy 
3TN Nozzle 
(see pg. 18)

R3000/ 
S3000  
body

r3000  
components 

Total**

R3000  
cap/Plate  
body assy 

3NV Nozzle  
(see pg. 18) 

R3030/ 
S3030 body

r3030  
components 

Total**

R3030  
cap/Plate  
body assy 

part No. 9410 (pg. 8) 9539 11969-xxx 9461-xxx 9412 (including  
nozzle & 
adapter)

11970-xxx 12035-xxx 12034 (including  
nozzle & 
adapter)

12471-xxx
box 13x13x16” 12x12x8” 12x12x8”  12x12x8” 12x12x10” 13x13x16”  13x13x16”  12x12x10”  13x13x16”

QtY/box 900 600 300 200 700 300 200 500 150

Lbs/box 39 11 16 14 11 16 24 14 19

**cOMPONENTS TOTaL INcLUdES adaPTER, PLaTE, caP/MOTOR, NOZZLE (3TN OR 3NV) aNd bOdY (R3000 OR R3030). 

a3000  a3030  common accelerator Parts

desCrIptIoN

3/4" mNPT x 
Square Thread 

adapter
Plates

 
accelerator 
cap/motor 

accelerator 
cap/Plate  

assy 
3TN Nozzle 
(see pg. 18)

a3000/ 
D3000  
body

A3000  
components 

Total**

a3000  
cap/Plate  
body assy 

3NV Nozzle  
(see pg. 18) 

a3030/ 
D3030 body

A3030  
components 

Total**

a3030  
cap/Plate  
body assy 

part No. 9410 (pg. 8) 10402 11498-xxx 9461-xxx 9428 (including  
nozzle & 
adapter)

11973-xxx 12035-xxx 12346 (including  
nozzle & 
adapter)

12473-xxx
box 13x13x16” 12x12x8” 12x12x8”  12x12x8” 12x12x10” 14x14x12”  13x13x16”  12x12x10” 14x14x17”

QtY/box 900 1000 300 200 700 400 200 500 200

Lbs/box 39 12 14 14 11 15  24 14 24

**cOMPONENTS TOTaL INcLUdES adaPTER, PLaTE, caP/MOTOR, NOZZLE (3TN OR 3NV) aNd bOdY (a3000 OR a3030). 

9

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

10

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

10-20 psi (0.7-1.4 bar)
42-54’ (12.8-16.5 m)

S3030
SPINNER

O3030
ORBITOR

UP-TOP
OR 

dROPS

S

O

 
  

dROPS

6-20 psi (0.4-1.4 bar)
36-60’ (11.0-18.3 m)

IMPORTaNT MOUNTING INFORMaTION:
 1. The Orbitor requires a minimum of 2' (0.6 m) of reinforced flexible 

hose in the mounting assembly.
 2. When using the Orbitor with the weighted cover, do not use any other  

conventional weight styles instead of, or in addition to, the Orbitor 
weight.

 3. When using the Orbitor with the plastic cover, an inline weight is 
required. Use Nelson Slim Weights (page 17) or 3/4” NPT threaded 
weights. Slip weights require the Nelson clamp Saver (page 17).  

 4. always be sure that the Orbitor Weight, Slim Weight, or threaded 
weight  is securely tightened.

 5. always be sure that all components in the mounting assembly and the 
Orbitor are securely tightened. Use new* Nelson pressure regulators 
and fittings.

 6. If ¾” ball valves are used, use metal nipples or Nelson P/N-12291  
plastic nipples.

ORbITOR WITh
WEIghTED cOVER

ORbITOR WITh
PLaSTIc cOVER

NEW! uP-TOP  
SPINNER:

hIgh uNIfORmITy, 
gREaT OVERLaP,  

LOW aPPLIcaTION 
RaTES

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

#18 for low press. 

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

#16 for low press. 

Max. #50 Noz.   
Min. #14 Noz. @
30 psi (2.0 bar)

#16 for low press.

Max. #15 Noz.   
Min. #10 Noz. @
10 psi (0.7 bar)

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

RED 
D6-12°  

PuRPLE
D6-20°

yELLOW
D8-21° 

bEIgE**
SmaLL NOzzLE

LImE 
uP-TOP 

Plate #8839
cap/Plate assy* 

#11971-001
cap/Plate/3030 body

assy* #12472-001

Plate #9583
cap/Plate assy* 

#11971-002
cap/Plate/3030 body

assy* #12472-002

Plate#10361
cap/Plate assy* 

#11971-003
cap/Plate/3030 body

assy* #12472-003

Plate  #11013
Operates with a  
#10-15 nozzle.  
Ultra-low flow. 

Plate#12534
cap/Plate assy* 

#11971-005
cap/Plate/3030 body
assembly* #12472-005

10-20 psi
(0.7-1.4 bar)

10-20 psi
(0.7-1.4 bar)

10-20 psi
(0.7-1.4 bar) 

10-15 psi
(0.7-1.0 bar) 

6-15 psi
(0.4-1.0 bar)

Part circle  
S3030 Spinner 

#12650

#14-40 NOZ.

10-20 psi
(0.7-1.4 bar)

#11-#50 Noz.
Nozzle Range

#11-#50 Noz.
Nozzle Range

#11-#50 Noz.
Nozzle Range

bLacK
STaNDaRD aNgLE

bLuE
LOW aNgLE

PuRPLE
SmaLL DROPLET

03000 assy w/ Weight
#11488-101 

03000 assy w/ Plastic 
cover #11488-301

03030 assy w/ Weight
#12317-101 

03030 assy w/ Plastic 
cover #12317-301

03000 assy w/ Weight
#11488-102

03000 assy w/ Plastic 
cover #11488-302

03030 assy w/ Weight
#12317-102

03030 assy w/ Plastic 
cover #12317-302

03000 assy w/ Weight
#11488-103

03000 assy w/ Plastic 
cover #11488-303 

03000 assy w/ Weight
#12317-103 

03030 assy w/ Plastic 
cover #12317-303

6-20 psi
(0.4-1.4 bar)

6-20 psi
(0.4-1.4 bar)

6-20 psi
(0.4-1.4 bar)

*New, patented single-strut seat manufactured after 2007.

PIVOT SPRINKLERS / 3 0 3 0  S E R I E S

*Part numbers do not include the adapter & Nozzle that are required for a complete assembly.
**The beige plate should be used on flexible drops, or those with at least 1ft. (0.3 m) of hose. The smaller nozzles will be more susceptible to plugging.

10



January 1, 2017

11

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

O3000
ORBITOR

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

#18 for low press. 

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

#16 for low press. 

Max. #50 Noz.   
Min. #14 Noz. @
30 psi (2.0 bar)

#16 for low press.

Max. #15 Noz.   
Min. #10 Noz. @
10 psi (0.7 bar)

Max. #50 Noz.   
Min. #14 Noz. @
15 psi (1.0 bar)

RED 
D6-12°  

PuRPLE
D6-20°

yELLOW
D8-21° 

bEIgE**
SmaLL NOzzLE

LImE 
uP-TOP 

Plate #8839
cap/Plate assy* 

#11971-001
cap/Plate/3030 body

assy* #12472-001

Plate #9583
cap/Plate assy* 

#11971-002
cap/Plate/3030 body

assy* #12472-002

Plate#10361
cap/Plate assy* 

#11971-003
cap/Plate/3030 body

assy* #12472-003

Plate  #11013
Operates with a  
#10-15 nozzle.  
Ultra-low flow. 

Plate#12534
cap/Plate assy* 

#11971-005
cap/Plate/3030 body
assembly* #12472-005

10-20 psi
(0.7-1.4 bar)

10-20 psi
(0.7-1.4 bar)

10-20 psi
(0.7-1.4 bar) 

10-15 psi
(0.7-1.0 bar) 

6-15 psi
(0.4-1.0 bar)

desCrIptIoN
Pc-S3000 (less 
nozzle & adpater)

part No.  9926-001

QtY/box 150

Lbs/box 24

S3000  common Spinner Parts S3030  

desCrIptIoN

3/4" mNPT x 
Square Thread 

adapter
Spinner 
Plates  

Spinner 
cap/motor 

Spinner  
cap/Plate  

assy 
3TN Nozzle 
(see pg. 18)

R3000/ 
S3000  
body

s3000  
components 

Total**

S3000  
cap/Plate  
body assy 

3NV Nozzle  
(see pg. 18) 

R3030/ 
S3030 body

s3030  
components 

Total**

S3030  
cap/Plate  
body assy

part No. 9410 pg. 10 9540 11971-xxx 9461-xxx 9412 (including  
nozzle & 
adapter)

11972-xxx 12035-xxx 12034 (including  
nozzle & 
adapter)

12472-xxx
box 13x13x16” 12x12x8” 12x12x8”  12x12x8” 12x12x10” 13x13x16” 13x13x16”  12x12x10”  13x13x16”  

QtY/box 900 600 300 200 700 300 200 500 150

Lbs/box 39 11 16 12 11 16 22 14

**cOMPONENTS TOTaL INcLUdES adaPTER, PLaTE, caP/MOTOR, NOZZLE (3TN OR 3NV) aNd bOdY (S3000 OR S3030). 

desCrIptIoN
Pc-S3030 (less 
nozzle & adpater)

part No. 12650

QtY/box 100

Spinner & Orbitor sprinklers come in the 3000 Series (with 3TN nozzle) or new 3030 Series (with 3NV nozzle). 

S3000
SPINNER

cap/Plate/3000 Series body  
assy (less adapter & 
nozzle) #11972-xxx (Use 
-xxx from table on page 10 
for plate specifications)

#9540 Gray Spinner cap 

O3000 w/ Weight O3000 Plastic O3030 w/ Weight O3030 Plastic 

desCrIptIoN

3/4" mNPT x 
Square Thread 

adapter

O3000  
body & 
Weight

o3000  
components 

Total*
3TN Nozzle  
(see pg. 18) 

O3000 body 
w/ Plastic 

cover

o3000  
components 

Total**
O3030 body 

& Weight

o3030  
components 

Total*
3NV Nozzle  
(see pg. 18) 

O3030 body 
w/ Plastic 

cover

o3030  
components 

Total**
part No. 9410 11488-1xx (WeiGhted 

VerSion 
including 
nozzle & 
adapter)

9461-xxx 11488-3xx (pLAStic 
coVer 

VerSion 
including 
nozzle & 
adapter)

12317-1xx
(WeiGhted 

VerSion 
including 
nozzle & 
adapter)

12035-xxx 12317-3xx (pLAStic 
coVer 

VerSion 
including 
nozzle & 
adapter)

box 13x13x16” 14x14x12” 12x12x10” 14x14x9”  14x14x12”  12x12x10” 14x14x12”

QtY/box 900 24 700 24  24 500 24

Lbs/box 39 30 11 11  33 11

 **cOMPONENTS TOTaL INcLUdES adaPTER, bOdY (WEIGHTEd OR PLaSTIc), aNd NOZZLE (3TN OR 3NV).

11

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

12

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

     

6-40 psi (0.4-2.8 bar)
16-40’ (4.9-12.2 m)

T3000
TRASHBUSTER

D3030
SPRAYHEAD

D

T

UP-TOP
OR 

dROPS

#9539 bLuE  
ROTaTOR caP

#10324-xxx PuRPLE 
caP WITh SPRay 

PLaTE

ROTaTOR® 
cONfIguRaTION

SPRayhEaD
cONfIguRaTION

 

3000Fc Nozzle
#10106-xxx Requires  

a rigid drop and 25 PSI  
(1.7 bar) minimum.

u3030 bODy
#12381 

hOSE DRag 
aDaPTER #9427 

u3030 bODy
#12381 

PaRT cIRcLE SPRay 
#9894-001

3030 SERIES PaRT-cIRcLE
SPRay & hOSE DRag aDaPTER 

bOTh REquIRE uNIVERSaL bODy 
- 3000 SERIES DOES NOT

SEE fOLLOWINg
PagE fOR D3000
WITh NEW! TaN 
bubbLE-WIDE

PLaTE 

bubbLER 
aTTachmENT  
(LEPa) #10577 

fOR D3000 ONLy   

PIVOT SPRINKLERS / 3 0 3 0  S E R I E S

TuRquOISE #9591 gREEN  #9543 bLuE #9493 gRay #9542

RED #9437 yELLOW #9631 bLacK #9541 ORaNgE #10683 

WhITE #10971 PuRPLE #9550 bROWN #10721 TaN bubbLE-WIDE

See sprayhead literature for plate characteristics, throw diameter and pressure/
nozzle ranges. The Sprayhead can be used up-top or on drops.

bLuE #8817

gREEN #8844

See page 8 for  
cap assy #.

gREEN #9543 yELLOW #9631 bLacK #9541

-001 -002 -003

bLuE #9493 PuRPLE #9550 ORaNgE #10683

-004 -005 -006

#12780  

ShOWN WITh  
SPRay/accELERaTOR  
bODy  —  fLIP-OVER  

TO uSE WITh  
ROTaTOR/ 

SPINNER bODy

fLIP-OVER 
hOSE DRag  

caP aSSEmbLy
#12676

12



January 1, 2017

13

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

     

D3000
SPRAYHEAD
WITh TaN bubbLE-WIDE PLaTE
(SEE PagE 14 fOR 3030 cONfIguRaTION)

Flip-over d3000 Cap #9429
spray plate with Cap assy #10041-xxxx

D3000  D3030  

desCrIptIoN

bubbler 
attachment 
(3000 Series)

Pc-Spray- 
head (less nozzle  

& adpater)

3030 Series 
universal 
adapter

part No. 10577 
See  

Opposite
Page

 9894-001   12381

QtY/box 700 400  200

Lbs/box 10  27  23

desCrIptIoN

3/4" mNPT x 
Square Thread 

adapter

Plates  
(excluding 

tan) 

Tan
bubble-

Wide Plate 
Spray
cap

3TN Nozzle 
(see pg. 18)

a3000/ 
D3000  
body

d3000  
components 

Total*
3NV Nozzle  
(see pg. 18) 

a3030/ 
D3030  
body

d3030  
components 

Total*
Sprinkler 
converter

hose Drag 
adapter 

 
part No. 9410 pg. 12 pg. 12 9429 9461-xxx 9428 With one 

spray plate
12035-xxx 12346 (including  

nozzle & 
adapter)

11472 9427
box 13x13x16” 12x12x8” 13x13x16” 12x12x10” 13x13x12”  12x12x10” 14x14x16”

See Page 
8-9

13x13x16”

QtY/box 900 600 1000 700 400 500 200 800

Lbs/box 39 11 20 11 15 14 24 24

*cOMPONENTS TOTaL INcLUdES adaPTER, PLaTE, caP, NOZZLE (3TN OR 3NV) aNd bOdY (d3000 OR d3030). 

desCrIptIoN

3/4" mNPT x 
Square Thread 

adapter T3000 body
T3000  

cap/Spray Plate 
3TN Nozzle 
(see pg. 18)

t3000 components 
Total* 3000fc

t3000 components 
Total*

part No. 9410 10419 10324-xxx 9461-xxx
(Spray & 3TN)

10106-xxx
(Spray & 3000Fc)

box 13x13x16” 13x13x16” 12x12x8” 12x12x10” 12x12x8”

QtY/box 900 300 300 700  700  

Lbs/box 39 11 14 11  22  

For Trashbuster with R3000 Rotator cap/Motor/Plate, specify from Rotator Section on page 8.  
*cOMPONENTS TOTaL INcLUdES adaPTER, PLaTE, caP, NOZZLE aNd bOdY.

T3000 w/ 3TN T3000 w/ 3000fc

The Sprayhead comes in the 3000 Series (with 3TN nozzle) or new 3030 Series (with 3NV nozzle). The Trashbuster is not offered in the 3030 Series configuration. 

for hD3000 order 3000 adapter, 
3TN Nozzle & hose Drag adapter. 
for hD3030 order 3000 adapter, 
3NV Nozzle, 3030 Series universal 
adapter and hose Drag adapter. 

13

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

14

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

14 hose draG, bubbLer aNd spraY teChNoLoGY QuaLIFY as Lepa 
aNd Lesa so LoNG as the outLet spaCINGs are tIGht aNd the 
devICes deLIver water verY Near to or oN the soIL surFaCe, 
wIth LIttLe eNerGY IN order to have verY Low evaporatIoN 
IN the aIr.  Nelson’s u3030 can be used for both part-circle applications 
and hose drag applications. the sprinkler Converter is a great device to 
get a 3-in-1 sprinkler. Choose between functions: bubble, spray or irrigate 
with rotating streams depending on water constraints. while offering the 
advantages of low pressure operation and minimal water loss due to canopy 
evaporation and wind drift, Lepa is limited in its areas of application. 
Limitations include tight soils, sloping fields, and inner spans. due to the 
very low pressure used, it is necessary to manage the system pressure and 
monitor it closely. pressure regulators are generally a necessity for good 
uniformity of Lepa nozzle discharge.   there are other low energy/elevation 
options beyond Lepa and Lesa. Consider rotating sprinklers in the 6-10 
psi (0.4-0.7 bar) range. the rotator® and accelerator create a wide wetted 
pattern for the best soil infiltration and optimal droplet energy. 

LOW ENERgy, LOW ELEVaTION / " L E "  S O L u T I O N S  f O R  P I V O T S

if you're LookinG  
for “Le” SoLutionS — 
Look for the  
neLSon AdVAntAGe.  

LepA
  

LoW enerGy/eLeVAtion 
preciSion AppLicAtion

Germinate
Irrigate

Chemigate
bubble

drag 

U3030
+ hose draG 

STRaIGHT-dOWN 
bUbbLE MOdE 

(NO SPEcIaL PLaTE  
OR cLIP REqUIREd)

U3030 + Hd3000 HOSE dRaG 
adaPTER FOR aPPLIcaTION OF 
HOSE dRaG OR dRaG SOck

bUbbLE MOdE WITH  
SPRINkLER cONVERTER 
(accELERaTOR MOdE)

14



January 1, 2017

15

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

15

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com

LeSA 
  

LoW enerGy/eLeVAtion 
SprAy AppLicAtion

LenA
  

LoW enerGy/eLeVAtion 
neLSon AdVAntAGe

LeSA / spraY 

accELERaTOR  
MOdE WITH
SPRINkLER  

cONVERTER

SPRaY  
MOdE WITH
SPRINkLER  

cONVERTER

spray
or 

orbiting
sprinklers

MovING
sprINkLers:

rotator®
accelerator

spinner

D3030
spraYhead

A3030
aCCeLerator

LepA / New! taN bubbLe-wIde

15

the tan bubble-wide plate is now 
available for Low energy precision 
applications in the 6-10 psi range  
(0.4-0.7 bar) using nozzle sizes 
#9-#30. this configuration creates a 
wider dome of water than standard 
straight down bubblers providing 
full coverage irrigation. this pattern 
treats the soil better and can 
increase efficiencies by reducing 
wind drift and evaporation versus 
standard spray plates. space from 
30" to 60". 



January 1, 2017

16

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

1 lb. modular 
Weight

In-line Slim 
Weight

fNPT 
x (hb)

mNPT 
x (hb)

ST adapter  
x (hb)

3NV Dual  
Nozzle clip assy

3TN Dual 
Nozzle clip

3TN Tri  
Nozzle clip

clamp 
Saver

3NV Dual Nozzle  
Pliers  

10130 11395-001
(0.85 lb)

10057 10148 9901 12032 9742 11089 12107 12560

 12x12x4”  13x13x16” 13x13x16” 13x13x16”  13x13x16”

48  11395
(1 lb)  

 625 725 800   1000    

 50  32  36  38  15 

part-CIrCLe sprINkLers CaN be INstaLLed 
IN a varIetY oF CoNFIGuratIoNs

Direction of Travel

bOOmbacKS
Installations on 

boombacks minimize the 
compromise in uniformity 

that occurs when part-
circle devices are utilized.

Direction of Travel

SMArt optionS 
for coMMon 
chALLenGeS

PIVOT SPRINKLERS / a c c E S S O R I E S  &  O P T I O N S

SoLVe WheeL trAck proBLeMS 
ExcESSIVE WaTER IN ThE WhEEL TRacKS caN cauSE 
SLIPPagE Of ThE TIRES, cauSINg ThE SySTEm TO 
SLOW DOWN IN WET aREaS aND STEEP SLOPES — 
INcREaSINg ThE aPPLIcaTION DEPTh IN RELaTION 
TO OThER PaRTS Of ThE fIELDS. DEEP WhEEL TRacK 
RuTS aRE aLSO DETRImENTaL TO ThE EquIPmENT aND 
haRVESTINg EffIcIENcy. 

PART-CIRCLE 
ROTATOR®

perForMaNCe
•	180° arc (varies slightly with flow rate)
•	Wide Throw
•	High Uniformity
•	Wind Fighting Pattern

operatING speCs
•	15-25 psi (1-1.4 bar) for #14-39 Nozzles 
•	15-30 psi (1-2 bar) for #40-50 Nozzles
•	11’ Spacing Limit
•	Mount on a rigid drop assembly or IacO Hose  
 boom assembly. Go to www.boombacks.com.

Part-circle Spinner & Sprayhead also available 
for different pressure needs and stream 
characteristics. 

#40-#50 Noz. #24-#39 Noz. #14-#23 Noz. 

16



January 1, 2017

17

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

1 lb. modular 
Weight

In-line Slim 
Weight

fNPT 
x (hb)

mNPT 
x (hb)

ST adapter  
x (hb)

3NV Dual  
Nozzle clip assy

3TN Dual 
Nozzle clip

3TN Tri  
Nozzle clip

clamp 
Saver

3NV Dual Nozzle  
Pliers  

10130 11395-001
(0.85 lb)

10057 10148 9901 12032 9742 11089 12107 12560

 12x12x4”  13x13x16” 13x13x16” 13x13x16”  13x13x16”

48  11395
(1 lb)  

 625 725 800   1000    

 50  32  36  38  15 

accESSORIES 

3NV DNC PLIERS
Use this tool to remove and change 3NV Nozzles from the 3NV dual  
Nozzle clips. Simply insert tool teeth into nozzle notches and it releases

NOzzLE CLIPS
Nelson Pivot Sprinklers can be equipped with two or three nozzles 
using the 3TN dual Nozzle clip or 3TN Triple Nozzle clip. The 3030 
Series has a dual nozzle clip. These devices allow you to precisely 
match crop water requirements through the season. during 
germination, lower system flow rates lessen the intensity of water 
droplets to maintain proper soil structure and reduce runoff. adjust 
the system flow as crop water requirements or well outputs change.  

•	change system flow quickly and accurately.
•	No more fumbling with or dropping nozzles.
•	Meet differing in-season demands: 

 - Germinate at LO, Irrigate at HI
 - Irrigate at HI, chemigate at LO

Note: do not operate in down-in-the-crop applications,  
or with the chemigation Spray Plate. 

CLAmP SAVER
USE cLaMP SaVER WHEN INSTaLLING ORbITORS 
ON a PIVOT WITH EXISTING POLY SLIP WEIGHTS. 
This simple device placed over clamps on drop 
hose beneath poly slip weights protects the clamp 
from the “action” or natural vibration on Orbitor 
systems. This is a great solution when an irrigator 
is retrofitting a pivot that already has slip weights 
with the Orbitor sprinkler. Only the plastic cover 
version (6-10 psi / 0.4-0.7 bar) O3000 or O3030 can 
be used with poly slip weights.

FITTINGS
User-friendly HOSE baRb FITTINGS. Easy installation 
into 3/4" flexible hose. Eliminates additional fittings. 
The convenience of the 15/16" Hex adapter is unique to 
Nelson fittings. Secure fittings using 15/16" deep well 
socket or open end wrench. 
 

mNPT x (hb)
#10148

fNPT x (hb)
#10057

ST aDaPTER  
x (hb) #9901

Direction of Travel

STRaIghT DROPS
Installations on straight drops 
require careful adjustment of 
the orientation.

WEIGHTS FOR  
DROP HOSE
The 1 lb. modular weight (#10130) fits 
onto the pressure regulator, but if 
pressure regulators are not used, the 
weight fits directly on the body of the 
sprinkler (3000 Series only and not 
to be used with the Orbitor). The 1 lb. 
Modular Pivot Weight is designed for 
sprinklers operating 
at 20 PSI (1.4 baR) 
and below. 

The new in-line 
“slim” weight is for 
use with 3000 Series & 3030 Series 
Sprinklers. This low profile zinc weight 
fits directly into flexible drop hose 
secured with a clamp, above 
a Nelson regulator and/or 
sprinkler.  This includes the 
plastic cover versions of 
the O3000 and O3030 at 
6, 10 or 15 psi (0.4, 0.7 or 1 
bar) where the regulator 
must be installed directly 
onto the slim weight. 
No additional weight is 
allowed with the Orbitor.

17

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

18

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

the nozzle sizing system is based on 128th inch increments, e.g. 3tN/3Nv Nozzle #26 has 
an orifice diameter of 26/128th inches while 3tN/3Nv Nozzle #27 has an orifice diameter 
of 27/128th inches. For 3tN Nozzles, the odd-numbered nozzles have a color box around 
the number marking. this color box denotes the color of the next larger nozzle size. the 
odd-numbered 3Nv Nozzles have a scalloped edge rather than secondary coloring.

#9461-xxx 3TN NOzzLE  
fOR 3000 SERIES

 

#12035-xxx 3NV NOzzLE
fOR 3030 SERIES 

SQUARE THREAD 
REGULATORS & ADApTERS

orbitor configuration  
shown on page 10-11. 

trashbuster onLY aVaiLabLe
for 3000 series. 

Bodies

plates

Caps

NOzzLE SySTEmS  / 3 T N  &  N E W  3 N V  f O R  3 0 3 0  S E R I E S 

3NV 
cOLOR-cODED SySTEm

Odd NUMbERS HaVE  
ScaLLOPEd EdGE. 

EVEN NOzzLE

ODD NOzzLE

3TN
cOLOR-cODED SySTEm

Odd NUMbERS HaVE  
cOLOR bOX aROUNd NUMbER.

14 15 16 17 18 19

R3000/S3000
#9412

a3030/d3030
#12346 

R3030/S3030
#12034 

a3000/d3000
#9428

T3000
#10419

ST X 3/4"
#9410

ST X Hb
#9901

U3030
#12381 

18



January 1, 2017

19

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

hOW much ELEVaTION 
chaNgE IS accEPTabLE? 
Less thaN 10% FLow varIatIoN Is a Good ruLe oF thuMb. 
this graph is based on the elevation limit which will cause a flow variation 
of ten percent or more. If the elevation change from the lowest point is 
above the line, then a flow variation of more than 10 percent will occur. 
Notice the lower design pressure allows less elevation change before 
pressure regulators are recommended. 
Note: even if elevation changes do not require pressure regulators, you 
should consider them for their other advantages. 

teChNICaL tIps For reGuLatING sYsteMs
IMPORTaNT: allow approximately 5 PSI (.35 baR) extra pressure in order for the regulator 
to function properly. For example, the minimum design inlet pressure for a 20 PSI (1.4 baR) 
pressure regulator is 25 PSI (1.7 baR). 

IMPORTaNT: If your system is designed with Nelson sprinklers, use Nelson Pressure 
Regulators. Individual manufacturers’ pressure regulator performance varies. Interchanging 
could result in inaccurate nozzle selection. 

6 pSi (0.4 bar) 10 pSi (0.7 bar) 15 pSi (1.0 bar) 20 pSi (1.4 bar) 25 pSi (1.7 bar) 30 pSi (2.1 bar) 40 pSi (2.8 bar) 50 pSi (3.4 bar)
uNI-fLO hI-fLO uNI-fLO hI-fLO uNI-fLO hI-fLO uNI-fLO hI-fLO uNI-fLO hI-fLO uNI-fLO hI-fLO uNI-fLO hI-fLO uNI-fLO hI-fLO

3/4" fNPT x  
SquaRE ThREaD 9572-001 9611-001 9572-002 9611-002 9572-003 9611-003 9572-004 9611-005 9572-005 9611-006 9572-006 9611-007 9572-007 9611-008 9572-008 9611-009

3/4" fNPT x  
3/4” fNPT 9491-001 9071-001 9491-002 9071-002 9491-003 9071-003 9491-004 9071-005 9491-005 9071-006 9491-006 9071-007 9491-007 9071-008 9491-008 9071-009

25
feet MeterS

pSi

BAr

20

eL
eV

At
io

n 
ch

An
Ge

deSiGn preSSure

15

10

5

0
10 20 30 40 50

-1

-2

-3

-4

-5

-6

-7

.7 1.0 1.4 1.7 2.0 2.4 2.7 3.0 3.4

The Nelson Universal Flo Pressure 
Regulator has a flow up to 12 GPM (2.7 

M3/H) at 15 PSI (1.0 baR) and above. 

PIVOT PRESSURE REGULATORS

SqUARE
THREAD 

CONNECTION

Integral adapter connects 
directly into all Nelson 3000 

& 3030 Series Sprinklers. 

3/4" FNPT 
x FNPT  

CONNECTION

Use 9410 ¾” MNPT 
adapter

PaTENTED PLug RESISTaNT DESIgN 
superIor pLuG-resIstaNCe  wIth a sINGLe-strut seat 
desIGN IN both the hI-FLo aNd uNIversaL FLo ModeLs.

ExTENDED PERfORmaNcE & PREcISION accuRacy
preCIsIoN CoMpoNeNts CoupLed wIth aN INterNaLLY 
LubrICated o-rING MINIMIze FrICtIoNaL draG aNd 
hYsteresIs.

desCrIptIoN Square Thread uni-flo Square Thread hi-flo 3/4” fNPT uni-flo 3/4” fNPT hi-flo

box  12x12x13” 12x12x11” 12x12x13” 12x12x11”

QtY/box  100 50 100 50 

Lbs/box  26 25 30 25

PIVOT PRESSuRE REguLaTORS

19

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

20

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

R55
40-55'

(12-17 m) @ 
15-40 PSI

(1.0-2.8 bar)

18 gpm-84 gpm 
(4.1 m3/h-19.1 m3/h)

Up to 10 acres
(4.0 ha)

irrigating full circle

Up to 6 acres
(2.4 ha)

corners only

Up to 13 acres
(5.3 ha)

irrigating full circle

Up to 7 acres
(2.8 ha)

corners only

Up to 17 acres
(6.9 ha)

irrigating full circle

Up to 9 acres
(3.6 ha)

corners only

Up to 23 acres
(9.3 ha)

irrigating full circle

Up to 11 acres
(4.5 ha)

corners only

R75
50-70'

(15-21 m) @ 
25-60 PSI

(1.7-4.2 bar)

24 gpm-70 gpm 
(5.4 m3/h-15.4 m3/h)

SR75
70-90'

(21-28 m) @ 
25-80 PSI

(1.7-5.5 bar)

30 gpm-160 gpm 
(6.8 m3/h-36.3 m3/h)

SR100
90-120'

(28-37 m) @ 
40-80 PSI

(2.8-5.5 bar)

50 gpm-300 gpm 
(11.4 m3/h-68.2 m3/h)

typicAL Added AcreAGe on A 1/4 MiLe piVot

Go Beyond.
       end of piVot SprinkLerS for Short & LonG rAdiuS of throW

20



January 1, 2017

21

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

The R55 End of Pivot Sprinkler is changing the way farmers irrigate with center pivots. 
It can be used to pick up added acreage both throughout the full revolution of the 
pivot or just in the corners, depending on site specifics and irrigator preferences. It 
can be used in conjunction with a higher volume big Gun® Sprinkler – or on its own. 
The R55 (with blue plate) is to be mounted in an upright position at the end of the 
overhang. The New R55i, with a specially engineered gray plate, has been made for 
inverted applications. This configuration is found to be easier to plumb - and some 
say it’s effective in helping manage debris that collects at the end of the system. 

AdditionAL 
AcreAGe At  
LoW preSSure 

reQuIred
pLuMbING

draIN 
reQuIred

poor eNtraNCe 
CoNdItIoNs dIMINIsh 

perForMaNCe.

Introducing the new R75 ENd OF PIVOT SPRINkLER. This versatile, 
high-uniformity sprinkler is based on field-proven Rotator® Tech-
nology. The R75 and R75LP (low pressure option) help fill in the 
corners and gain added ground ... up to 70 feet (21 m).  
See page 52 for the R75M debris Sweeper for mining and dairy applications. 

R75

R55i
INVERTED mOuNTINg
operatING pressure Must be 
15-40 psI (1-2.8 bar)

poor eNtraNCe 
CoNdItIoNs dIMINIsh 
perForMaNCe.  

draIN 
reQuIred

R55
uPRIghT mOuNTINg
operatING pressure Must be 
15-40 psI (1-2.8 bar)

Please note that radius is typically less for the inverted, gray plate than for the blue plate.   
The R55/R55i can always remain on, turn on via a solenoid on an 800 series valve or work  
under the logic of a linked control system with a SR100/800P Valve or SRNV100 (Nozzle Valve).

desCrIptIoN R75 body 7TN Nozzle
part No. 11936-xxx 12178-xxx

#-001 for 40-60 psi, 2.75-4 
bar and #-002 for LP Version 

25-40 psi, 1.75-2.75 bar

#52 beige -052,#56 Red 
-056, #60 Yellow -060, 

#64 Green -064 #68 blue 
-068, #72 White -072

box 15x9x6"

Lbs/box 6 1/2

desCrIptIoN R55 body R55i body Nozzle assy complete R55 complete R55i
part No. 12009 12314 11790-xxx 11793-xxx 12315-xxx

For Upright 
applications
(blue Plate)

For Inverted 
applications
(Gray Plate)

#52 Purple -005, 
#60 Red -001, 

#70 Yellow -002, 
#80 Green -003, 
#90 blue -004

body & Nozzle 
assembled

body & Nozzle 
assembled - 
blue Nozzle 

not to be used 
with R55i

box 12x12x10" 12x12x10" 12x12x4" 12x12x10" 12x12x10"

QtY/box 9 9 9 9 9

Lbs/box 13 13 2 15 15

18 GpM-84 GpM 
(4.1 M3/h-19.1 M3/h)

6" MIN.

6" MIN.

18 GpM-72 GpM 
(4.1 M3/h-16.4 M3/h)

21

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

22

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

the 2” vaLve Is NorMaLLY CLosed. wheN the booster puMp Is turNed oN, the added 
pressure* Causes the vaLve to opeN operatING the GuN. No other aCCessorY Is Needed. 

the sMaLL aMouNt oF 
water IN the sLeeve 
ChaMber (about 1/2 
Cup) Is ForCed baCk 
INto the sYsteM. 
wheN the booster 
puMp Is turNed oFF 
theN the sYsteM 
pressure re-CLoses 
the vaLve.

Valve
Automatically
CLOSES

Booster Pump
OFF

Valve
Automatically
OPENS

Valve
Automatically
CLOSES

Booster Pump
OFF

Booster Pump
ON

Booster Pump
ON

Valve
Automatically
OPENS

   

Valve
Automatically
CLOSES

Booster Pump
OFF

Valve
Automatically
OPENS

Valve
Automatically
CLOSES

Booster Pump
OFF

Booster Pump
ON

Booster Pump
ON

Valve
Automatically
OPENS

   

*booster puMp added pressure Must be 18 psI (1.2 bar) or More. 

Valve
Automatically
CLOSES

Booster Pump
OFF

Valve
Automatically
OPENS

Valve
Automatically
CLOSES

Booster Pump
OFF

Booster Pump
ON

Booster Pump
ON

Valve
Automatically
OPENS

   

optIoNaL 800p MouNtING CoNFIGuratIoN

T H E  O R I G I N A L

SR100
50 GpM-300 GpM 
(11.4 M3/h-68.2 M3/h)SR75

30 GpM-160 GpM
(6.8 M3/h-36.3 M3/h)

800P 2”  
PIVOT GUN  
CONTROL  

VALVE =

800P cONTROL VaLVE 
+ SR75 OR SR100
No solenoid is needed for this 
gun-control system (when a 
booster pump is used). Specify 
aNSI Flange connection on big 
Gun and b11 or b12 connection 
Style on Valve. 

ExamPLE: a2 b11 c3 and 100 
Series big Gun. (See Page 58 
for full valve details.)  

Lower FLaNGe Not INCLuded

bIg guN® SPRINKLERS

22



January 1, 2017

23

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

T H E  O R I G I N A L

PURGE VALVE
Install at the end of center pivot for automatic 
flushing at start-up and shut-down — or, 
configure with an electric solenoid interfaced 
with the center pivot for automatic flushing 
while system is operating. during system 
start up the nozzle valve is open until the end 
pressure reaches approximately 8 psi. If at any 
time the end pressure drops below 8 psi the 
valve will open.

DELTA P KIT
The delta P can be paired with the 
SRNV100 to further improve reliability by 
eliminating the need for a costly solenoid. 
The delta P automatically opens and 
closes the nozzle valve by sensing 
pressure upstream and downstream of 
the booster pump.

Off

bOOSTER
PumP PRESSuRIzED

NOzzLE VaLVE 
auTOmaTIcaLLy cLOSES

On

bOOSTER
PumP VENTED

NOzzLE VaLVE 
auTOmaTIcaLLy OPENS

SRNV100 BIG GUN®  
NOzzLE VALVE The SRNV100 is the standard 

SR100 big Gun® configured with 
a simple mechanical valve which 
can be either hydraulically or 
electrically controlled and linked 
to the pivot control system. 
The nozzle valve improves end 
gun performance and efficiency 
by eliminating pressure loss, 
turbulence, and debris hang-up 
typical of other end gun control 
valves. 

booster puMp oN (pressure dIFFereNtIaL Greater 
thaN 15psI): deLta p veNts the aCtuator oN the 
NozzLe vaLve, vaLve opeN.

desCr.

Part circle — 
Slow Reverse 

(18°)

Individual Taper 
Ring Nozzle  

(Specify Size)

Part circle — 
Slow Reverse 

(18°)

SR100 Nozzle Valve  
w/ Solenoid  

(110V or 24V) (18°)

SR100 Nozzle 
Valve without 

Solenoid

SR100 Nozzle Valve 
w/ Delta P (less 
nozzle) 8211-316

Taper bore 
Nozzle 

(Specify Size)

Purge Valve —
1.5” mNPT or 

1.5” mbSP Delta P Kit
2" fNPT 
flange

part No. SR75 TR75 SR100 SRNV100E SRNV100h SRNV100DP 100T 10474
10474-001

12289 10356
box  32x9x15”  32x9x15”  32x9x15”  32x9x15”

Lbs/box 22 1/2 25 36 35 1/2 2

*Nozzle sold separately. contact Factory for special “vaneless” waste-water options. For additional nozzle & accessories see pages 48-49.

booster puMp oFF (eQuaL pressure):
deLta p pressurIzes the LINe LeadING to the 
aCtuator oN the NozzLe vaLve, MaINtaINING the 
vaLve CLosed.  

®

23

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

24

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

chooSe froM theSe rotAtor® SprinkLerS for under-tree 
irriGAtion And enVironMentAL controL of tree fruit, 
Vine, tree nut cropS (uSe LoW trAJectory pLAteS) — And 
oVerheAd irriGAtion, cooLinG And enVironMentAL controL 
in tree, Vine, SMALL fruit And nurSery cropS.

SySteM typeS incLude SoLid Set uSinG 
either pVc pipe or poLyethyLene 
pipe LAterALS, And portABLe pipeS 
incLudinG ALuMinuM, poLyethyLene 
And pVc.

rotAtor® fAMiLy 
of SprinkLerS

oVerheAd irriGAtion, cooLinG And 
enVironMentAL controL for nurSery 
cropS, tree, Vine, SMALL fruit And  
Berry cropS. reVeGetAtion, MininG 
And other SpeciALty uSeS. SySteM 
typeS incLude: portABLe pipe Such AS 
ALuMinuM, poLyethyLene, And pVc. Side 
roLL And perMAnent SoLid Set SySteMS.

R5 R10 R10T R2000WF/LP R33/R33LPR2000

0.6 to 2.1 GpM
140 to 469 Lph
20 to 33’
6.1 to 10.1 m

9°, 15° & 24° 

 0.7 to 3.5 GpM
150 to 792 Lph
23 to 37’
7.0 to 11.3 m

6°, 9°, 12°,
 15° & 24° 

0.3 to 1.1 GpM
61 to 242 Lph
18 to 25’
5.5  to 7.6 m

9° & 15°

radIus

FLow 9 to 29 Gph
34 to 110 Lph
7 to 18’ 
2.1 to 5.5 m

6°, 9°  
& Inverted 6°

2.9 to 9.6 GpM
659 to 2182 Lph
37 to 51’
11.3 to 15.5 m

25°

0.9 to 5.7 GpM
201 to 1295 Lph
31 to 45’
9.4 to 13.7 m

25° 

chOOSE a mODEL baSED ON TRajEcTORy, fLOW aND/OR ThROW. 

sCaN thIs Qr Code to Go dIreCtLY to the 
rotator seLeCtor tooL at NeLsoNIrrIGatIoN.CoM. 

trajeCtorY

2424



January 1, 2017

25

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

accESSORIES
baRbED TEE 

(PuRchaSE SEPaRaTELy)

fEmaLE acmE
 x baRbED 

TEE fITTINg
#12431

#10951

maLE
acmE  

aDaPTER
#11271

#10616

10' (3.0 m)       18' (5.5 m) 

4' 8' 12' 16' 20' 24' 28'

THROW RADIUS 18' (5.5 m) 25' (7.6 m)

4' 8' 12' 16' 20' 24'

THROW RADIUS

6º invertedANGLE

6º ANGLE

9º 15º 

9º 

ANGLE

9º 15º 24º ANGLE

9º 6º 12º 15º 24º ANGLE

25º ANGLE

25º ANGLE

4' 8' 12' 16' 20' 24'

THROW RADIUS 7' (2.1 m)     14' (4.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36'

THROW RADIUS 20' (6.1 m) 33' (10.1 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40'

THROW RADIUS 23' (7 m) 37' (11.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48'

THROW RADIUS 31' (9.4 m) 45' (13.7 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48' 52'

THROW RADIUS 37' (11.3 m) 50' (15.2 m)

10' (3.0 m)       18' (5.5 m) 

4' 8' 12' 16' 20' 24' 28'

THROW RADIUS 18' (5.5 m) 25' (7.6 m)

4' 8' 12' 16' 20' 24'

THROW RADIUS

6º invertedANGLE

6º ANGLE

9º 15º 

9º 

ANGLE

9º 15º 24º ANGLE

9º 6º 12º 15º 24º ANGLE

25º ANGLE

25º ANGLE

4' 8' 12' 16' 20' 24'

THROW RADIUS 7' (2.1 m)     14' (4.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36'

THROW RADIUS 20' (6.1 m) 33' (10.1 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40'

THROW RADIUS 23' (7 m) 37' (11.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48'

THROW RADIUS 31' (9.4 m) 45' (13.7 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48' 52'

THROW RADIUS 37' (11.3 m) 50' (15.2 m)

R5 

PLATE

Green 9° = 1
Wine 5° = 2
blue 6° = 3

NOZZLE

#35 Orange  
#40 blue 
#45 Purple  
#50 Green   
#55 Yellow  

9836-XXX (11261-XXX FOR POP-UP)
FLOW CONTROL NOZZLE

#09 (8.5) GPH Orange
#11 GPH blue
#14 GPH Purple
#18 GPH Yellow
#24 GPH Red

desCrIptIoN

acme x Drip  
configuration

R5 Deflector cap (Shown  
on R5 w/ 10616)

R5 1-Sided Stream Splitter 
(Shown on R5 w/ 10616)

R5 2-Sided Stream Splitter 
(Shown on R5 w/ 10616)

R5 Pop-up Stream Splitter 
(Shown on R5 Pop-up)

female acme
x R5 adapter

part No. 12431 11271 or 11258 10951 10746 10976 12050 10616
Female acme x 
barbed tee to 

alternate Rotator 
sprinklers & drip.

PVc Stake 
adapter 

Reduce the R5 radius 
down to 3-4 feet (0.9-1.2 
m) for watering newly 

planted trees.

Protects tree trunks — use 
when R5s are mounted 2-4 
feet (0.6-1.2 m) from a tree.

Protects tree trunks — use 
when R5 Rotators are 

centered between two trees.

Stream Splitter specifically 
designed for the R5 

Pop-Up body.

connect the R5 sprinkler 
to acme adapter threads.

desCrIptIoN
R5 Installation

Tool
male acme x PVc Socket 

adapter
male acme x  

mNPT adapter
Threaded cap

for acme adapter
female acme x  
1/2” PVc Spigot

Pressure gauge
Tap Kit

part No. 11108
1/2” - 10060-001
3/4” - 10060-002

25 mm - 10060-003
Use w/ 10616

3/8” - 9465
1/2” - 9316-002

3/4” - 9466
Use w/ 10616.

10615 10352
10366-001    0-60 PSI
10366-002   0-100 PSI
10366-003   0-160 PSI

Make installing the R5 
sprinkler simple.

connects to acme thread 
and acts as a shut off cap. 

Enables easy attachment 
to a  

PVc riser.

desCrIptIoN

Standard R5  
assembly including 

Plate & Nozzle

R5 assembly 
including Plate & 

fcN Nozzle

Standard R5 Pop-up
 assembly including 

Plate & Nozzle

R5 Pop-up assembly
including Plate & 

fcN Nozzle

part No. 9836-xxx 9836-xxx 11261-xxx 11261-xxx
box 12x12x4” 12x12x4”   

QtY/box 200/1000 200/1000  500 500 

Lbs/box 7 7   

Specify plates and nozzles from above left. 

HOW TO  ORdER

Micro irriGAtion + fuLL coVerAGe
the R5 ROTaTOR is the only micro sprinkler to combine the low flow capability of drip/micro 
with the throw and uniformity performance of a rotator®.  For maximum durability choose the 
heavy-duty “pop-up” version.

ROTaTOR® SPRINKLERS

25

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

26

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

pLate optIoNs NozzLe optIoNs FLow @ 35 psI (2.5 bar)
P2

P2 9° Red
#9460

Lt. blue #40
#9306-040 0.28 GPM (64.7 LPH)

Lt. Purple #45
#9306-045 0.35 (80.6)

dk. Green #50
#9306-050 0.43 (99.4) 

.35  10Fc 0.35 (97.5) 
NEW!! .43 10Fc 0.43 (99.4)

P4

P4 9° White
#9208

dk. Green #50
#9306-050 0.43 (99.4)

Lt. Yellow #55
#9306-055 0.52 (120) 

P4 15° Orange
#10882

Lt. Red #60
#9306-060 0.61 (141)  

.50  10Fc 0.50 (114)

Flow in GPM (LPH).

tHreAd
3/8”*= 0

1/2”= 1
acme = 2

plAte
Red = 1
White = 2
Orange = 7

9913-XXXX
NOZZLE

exAmple:
r10 rotator®  
with 1/2” thread (1), 
white plate (2) and red 
#60 Nozzle (60) =  
#9913-1260

assembled R10T body, Plate & flow control Nozzle
9587-754 R10T 1/2”, P6 15° PURPLE PLaTE, .75 10Fc

9587-851 R10T 1/2”, P6 15° PURPLE PLaTE, 1.00 10Fc

9587-757 R10T 1/2”, P6 9° bLUE PLaTE, .75 10Fc

9587-759 R10T 1/2”, P6 9° bLUE PLaTE, 1.00 Fc

9587-1128 R10T 1/2”, P8 15° GOLd PLaTE, 1.25 10Fc

9587-1153 R10T 1/2”, P8 15° GOLd PLaTE, 1.50 10Fc

9587-1101 R10T 1/2”, P8 24° bROWN PLaTE, 1.00 10Fc

9587-1126 R10T 1/2”, P8 24° bROWN PLaTE, 1.25 10Fc

9587-1151 R10T 1/2”, P8 24° bROWN PLaTE, 1.50 10Fc

9587-755 R10T acME, P6 15° PURPLE PLaTE, .75 10Fc

9587-850 R10T acME, P6 15° PURPLE PLaTE, 1.00 10Fc

9587-756 R10T acME, P6 9° bLUE PLaTE, .75 10Fc

9587-758 R10T acME, P6 9° bLUE PLaTE, 1.00 10Fc

9587-1127 R10T acME, P8 15° GOLd PLaTE, 1.25 10Fc

9587-1152 R10T acME, P8 15° GOLd PLaTE, 1.50 10Fc

9587-1100 R10T acME, P8 24° bROWN PLaTE, 1.00 10Fc

9587-1125 R10T acME, P8 24° bROWN PLaTE, 1.25 10Fc

9587-1150 R10T acME, P8 24° bROWN PLaTE, 1.50 10Fc

pLate optIoNs NozzLe optIoNs FLow @ 35 psI (2.5 bar)
P6

P6 9° blue
#9350

Gray #65 / #8.3
#9306-065 0.72 GPM (166LPH)

White #70 / #9
#9306-070 0.83 (192)

P6 15° Purple
#9723

dk. blue #78 / #10
#9306-078 1.05 (242) 

.75  10Fc 0.75 (170) 
1.0  10Fc 1.00 (227) 

P8

P8 15° gold
#10684

Orange #86 / #11
#9306-086 1.27 (294)

Purple #94 / #12
#9306-094 1.50 (347) 

P8 24° brown
#10601

Yellow #102 / #13
#9306-102 1.78 (411)  

1.25  10Fc 1.25 (284) 
1.50  10Fc 1.50 (341) 

dk. blue #78 / #10 and 1.0 10Fc 
for use with P8 24° plate only.

Flow in GPM (LPH).

ROTaTOR® SPRINKLERS

uLtrA-reLiABLe,  
LoW-VoLuMe SprinkLerS
Filling the need for small, low-volume sprinklers that perform 
reliably in the mid-range between micro and a regular size 
sprinkler, r10 & r10t rotators are right on target.

THREAD

3/8”= 0
1/2”= 1

acme = 2

PLATE

blue = 3
Purple = 4
brown = 5
Gold = 6

9914-XXXX
NOZZLE

exAmple:
r10t rotator® 
with acme thread (2), 
brown plate (5) and 
purple #12 Nozzle (78) = 
#9914-2594

10' (3.0 m)       18' (5.5 m) 

4' 8' 12' 16' 20' 24' 28'

THROW RADIUS 18' (5.5 m) 25' (7.6 m)

4' 8' 12' 16' 20' 24'

THROW RADIUS

6º invertedANGLE

6º ANGLE

9º 15º 

9º 

ANGLE

9º 15º 24º ANGLE

9º 6º 12º 15º 24º ANGLE

25º ANGLE

25º ANGLE

4' 8' 12' 16' 20' 24'

THROW RADIUS 7' (2.1 m)     14' (4.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36'

THROW RADIUS 20' (6.1 m) 33' (10.1 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40'

THROW RADIUS 23' (7 m) 37' (11.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48'

THROW RADIUS 31' (9.4 m) 45' (13.7 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48' 52'

THROW RADIUS 37' (11.3 m) 50' (15.2 m)

10' (3.0 m)       18' (5.5 m) 

4' 8' 12' 16' 20' 24' 28'

THROW RADIUS 18' (5.5 m) 25' (7.6 m)

4' 8' 12' 16' 20' 24'

THROW RADIUS

6º invertedANGLE

6º ANGLE

9º 15º 

9º 

ANGLE

9º 15º 24º ANGLE

9º 6º 12º 15º 24º ANGLE

25º ANGLE

25º ANGLE

4' 8' 12' 16' 20' 24'

THROW RADIUS 7' (2.1 m)     14' (4.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36'

THROW RADIUS 20' (6.1 m) 33' (10.1 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40'

THROW RADIUS 23' (7 m) 37' (11.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48'

THROW RADIUS 31' (9.4 m) 45' (13.7 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48' 52'

THROW RADIUS 37' (11.3 m) 50' (15.2 m)

assembled R10 body, Plate & flow control Nozzle
9587-351 R10 1/2”, P2 9° REd PLaTE, .35 10Fc

9587-352 R10 acME, P2 9° REd PLaTE, .35 10Fc

9587-431 R10 1/2”, P2 9° REd PLaTE, .43 10Fc

9587-432 R10 acME, P2 9° REd PLaTE, .43 10Fc

9587-501 R10 1/2”, P4 9° WHITE PLaTE, .50 10Fc

9587-502 R10 acME, P4 9° WHITE PLaTE, .50 10Fc

9587-601 R10 1/2”, P4 15° ORaNGE PLaTE, .50 10Fc

9587-602 R10 acME, P4 15° ORaNGE PLaTE, .50 10Fc

26



January 1, 2017

27

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

STaKE aND TubE OPTIONS fOR aNy 
aPPLIcaTION. SEE PagE 38-39.

fT2; fT3; 1/2 PVc-5; 3/4 PVc-5; fT4; 3/4 PVc-10; fT5

desCrIptIoN
R10 One-Sided
Stream Splitter

R10 Two-Sided
Stream Splitter

Legacy R10/R2000(Wf) 
Low angle Road guard

Legacy R10/R2000(Wf) high 
angle Road guard

2TN Nozzle
Removal Tool

part No. 11285 11275 9590-030 9879 10634
Protect adjacent tree trunks 
by creating a small wedge 

shape in the wetted pattern.

Protect adjacent tree trunks 
by creating a small wedge 

shape in the wetted pattern.

Snap on to convert to part-circle 
operation (irrigates 200°). 

Snap on to convert to part-circle 
operation (irrigates 200°). 

Easily removes the nozzle 
from R10/R10T.

desCrIptIoN
male acme x PVc  
Socket adapter

male acme x  
mNPT adapter

Threaded cap
for acme adapter

female acme x  
1/2” PVc Spigot

Pressure gauge
Tap Kit

part No.
1/2” - 10060-001
3/4” - 10060-002

25 mm - 10060-003
Use w/ 10616

3/8” - 9465
1/2” - 9316-002

3/4” - 9466
Use w/ 10616.

10615 10352
10366-001    0-60 PSI
10366-002   0-100 PSI
10366-003   0-160 PSI

connects to acme thread 
and acts as a shut off cap. 

Enables easy attachment 
to a PVc riser.

assembled R10T body, Plate & flow control Nozzle
9587-754 R10T 1/2”, P6 15° PURPLE PLaTE, .75 10Fc

9587-851 R10T 1/2”, P6 15° PURPLE PLaTE, 1.00 10Fc

9587-757 R10T 1/2”, P6 9° bLUE PLaTE, .75 10Fc

9587-759 R10T 1/2”, P6 9° bLUE PLaTE, 1.00 Fc

9587-1128 R10T 1/2”, P8 15° GOLd PLaTE, 1.25 10Fc

9587-1153 R10T 1/2”, P8 15° GOLd PLaTE, 1.50 10Fc

9587-1101 R10T 1/2”, P8 24° bROWN PLaTE, 1.00 10Fc

9587-1126 R10T 1/2”, P8 24° bROWN PLaTE, 1.25 10Fc

9587-1151 R10T 1/2”, P8 24° bROWN PLaTE, 1.50 10Fc

9587-755 R10T acME, P6 15° PURPLE PLaTE, .75 10Fc

9587-850 R10T acME, P6 15° PURPLE PLaTE, 1.00 10Fc

9587-756 R10T acME, P6 9° bLUE PLaTE, .75 10Fc

9587-758 R10T acME, P6 9° bLUE PLaTE, 1.00 10Fc

9587-1127 R10T acME, P8 15° GOLd PLaTE, 1.25 10Fc

9587-1152 R10T acME, P8 15° GOLd PLaTE, 1.50 10Fc

9587-1100 R10T acME, P8 24° bROWN PLaTE, 1.00 10Fc

9587-1125 R10T acME, P8 24° bROWN PLaTE, 1.25 10Fc

9587-1150 R10T acME, P8 24° bROWN PLaTE, 1.50 10Fc

accESSORIES

10' (3.0 m)       18' (5.5 m) 

4' 8' 12' 16' 20' 24' 28'

THROW RADIUS 18' (5.5 m) 25' (7.6 m)

4' 8' 12' 16' 20' 24'

THROW RADIUS

6º invertedANGLE

6º ANGLE

9º 15º 

9º 

ANGLE

9º 15º 24º ANGLE

9º 6º 12º 15º 24º ANGLE

25º ANGLE

25º ANGLE

4' 8' 12' 16' 20' 24'

THROW RADIUS 7' (2.1 m)     14' (4.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36'

THROW RADIUS 20' (6.1 m) 33' (10.1 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40'

THROW RADIUS 23' (7 m) 37' (11.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48'

THROW RADIUS 31' (9.4 m) 45' (13.7 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48' 52'

THROW RADIUS 37' (11.3 m) 50' (15.2 m)

assembled R10 body, Plate & flow control Nozzle
9587-351 R10 1/2”, P2 9° REd PLaTE, .35 10Fc

9587-352 R10 acME, P2 9° REd PLaTE, .35 10Fc

9587-431 R10 1/2”, P2 9° REd PLaTE, .43 10Fc

9587-432 R10 acME, P2 9° REd PLaTE, .43 10Fc

9587-501 R10 1/2”, P4 9° WHITE PLaTE, .50 10Fc

9587-502 R10 acME, P4 9° WHITE PLaTE, .50 10Fc

9587-601 R10 1/2”, P4 15° ORaNGE PLaTE, .50 10Fc

9587-602 R10 acME, P4 15° ORaNGE PLaTE, .50 10Fc

ROTaTOR® SPRINKLERS

desCrIptIoN

body assembly 
— Less Nozzle  

& Plate

Plate P2 9°,  
P4 9°, P4 15°,  

P6 9°, or P6 15°
Plate P8 15° or 

P8 24°  

2TN Nozzle 
(Nozzle options 

#40 to #102)

body, Plate & 
2TN Nozzle  

(Specify 3/8”, 
1/2” or acme)

body, P8 24° or 
P8 15° Plate & 

2TN Nozzle

body, Plate & 
10fc Nozzle 

(Specify 1/2” or 
acme)

body, P8 24° or 
P8 15° Plate & 
10fc Nozzle

adapter  
(male acme x 
3/8”, 1/2” or  
3/4” mNPT) 

PVc adapter 
(male acme x 
1/2”, 3/4” or 
25mm Slip)

box 12x12x10” 12x12x4” 12x12x4”  12x12x10” 12x12x10” 12x12x10” 12x12x10” 13x13x16” 13x13x16”

QtY/box 400 2500 2500 500/2500 400 400 400 400 2500/2000/1500 950/700

Lbs/box 11 9 9 1.3/6.0 14 14 15 15 39/40/44 36/32

R10 sprinklers ordered less nozzle or less nozzle and plate are only in box quantities of 400.

27

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

28

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

pLate
Cap asseMbLY 
w/ pLate NozzLe

NozzLe & bodY 
assY

asseMbLed Cap, 
bodY & NozzLe

FLow IN  
GpM / Lph @ 40 
psI / 3 bar

K1 6°  
cream
9516-106

10519-1106
Gray  #8.3 9306-065 10533-008 11991-0108 0.77 / 183

0.85 2000Fc  9223-085 11992-0108 0.85 / 193

K2 6°
Light blue
9516-206

10519-1206
White #9 9306-070 10533-009 11991-0209 0.89 / 210
blue #10 9306-078 10533-010 11991-0210 1.12 / 266
1.0 2000Fc  9223-100 11992-0210 1.00 / 227

K2 9°
Green
9516-209

10519-1209

Gray  #8.3 9306-065 10533-008 11991-0308 0.77 / 183
White #9 9306-070 10533-009 11991-0309 0.89 / 210
blue #10 9306-078 10533-010 11991-0310 1.12 / 266
0.85 2000Fc 9223-085 11992-0308 0.85 / 193
1.0 2000Fc 9223-100 11992-0310 1.00 / 227

K2 15°
Yellow
9516-215 10519-1215

Gray  #8.3 9306-065 10533-008 11991-0408 0.77 / 183
White #9 9306-070 10533-009 11991-0409 0.89 / 210
blue #10 9306-078 10533-010 11991-0410 1.12 / 266
0.85 2000Fc 9223-085 11992-0408 0.85 / 193
1.0 2000Fc 9223-100 11992-0410 1.00 / 227

K3 9°
brown
9516-309

10519-1309

Orange #11 9306-086 10533-011 11991-0511 1.36 / 323
Purple #12 9306-094 10533-012 11991-0512 1.61 / 380
1.25 2000Fc 9223-125 11992-0512 1.25 / 284
1.5 2000Fc 9223-150 11992-0515 1.50 / 341

K3 15°
Red
9516-315

10519-1315

Orange #11 9306-086 10533-011 11991-0611 1.36 / 323
Purple #12 9306-094 10533-012 11991-0612 1.61 / 380
1.25 2000Fc 9223-125 11992-0612 1.25 / 284
1.5 2000Fc 9223-150 11992-0615 1.50 / 341

K3 24°
Gray
9516-324

10519-1324

Orange #11 9306-086 10533-011 11991-0711 1.36 / 323
Purple #12 9306-094 10533-012 11991-0712 1.61 / 380
1.25 2000Fc 9223-125 11992-0712 1.25 / 284
1.5 2000Fc 9223-150 11992-0715 1.50 / 341

K4 6°
Turquoise
9516-406

10519-1406

Yellow #13 9306-102 10533-013 11991-0813 1.90 / 451
Green #14 9306-109 10533-014 11991-0814 2.15 / 509
1.5 2000Fc 9223-150 11992-0815 1.50 / 341
2.0 2000Fc 9223-200 11992-0820 2.00 / 454

K4 9°
Purple
9516-409

10519-1409

Yellow #13 9306-102 10533-013 11991-0913 1.90 / 451
Green #14 9306-109 10533-014 11991-0914 2.15 / 509
1.5 2000Fc 9223-150 11992-0915 1.50 / 341
2.0 2000Fc 9223-200 11992-0920 2.00 / 454

K4 12°
Wine
9516-412

10519-1412

Yellow #13 9306-102 10533-013 11991-1013 1.90 / 451
Green #14 9306-109 10533-014 11991-1014 2.15 / 509
1.5 2000Fc 9223-150 11992-1015 1.50 / 341
2.0 2000Fc 9223-200 11992-1020 2.00 / 454

K4 15°
Gold
9516-415

10519-1415

Yellow #13 9306-102 10533-013 11991-1113 1.90 / 451
Green #14 9306-109 10533-014 11991-1114 2.15 / 509
1.5 2000Fc 9223-150 11992-1115 1.50 / 341
2.0 2000Fc 9223-200 11992-1120 2.00 / 454

K4 24°
black
9516-424

10519-1424

Yellow #13 9306-102 10533-013 11991-1213 1.90 / 451
Green #14 9306-109 10533-014 11991-1214 2.15 / 509
1.5 2000Fc 9223-150 11992-1215 1.50 / 341
2.0 2000Fc 9223-200 11992-1220 2.00 / 454

K5 9°
Orange
9516-509

10519-1509
Tan #15 9306-117 10533-015 11991-1315 2.53 / 597
Red #16 9306-125 10533-016 11991-1316 2.89 / 685
2.5 2000Fc   9223-250 11992-1325 2.50 / 568

K5 15°
Tan
9516-515

10519-1515
Tan #15 9306-117 10533-015 11991-1415 2.53 / 597
Red #16 9306-125 10533-016 11991-1416 2.89 / 685
2.5 2000Fc  9223-250 11992-1425 2.50 / 568

K5 24°
blue
9516-524

10519-1524
Tan #15 9306-117 10533-015 11991-1515 2.53 / 597
Red #16 9306-125 10533-016 11991-1516 2.89 / 685
2.5 2000Fc   9223-250 11992-1525 2.50 / 568

R2000
ROTaTOR® SPRINKLERS

(2t body 
#9155)

Need Male acme x pvC adapter 
or Male acme x MNpt adapter

Cap assembly
with plate
#10519-1xxx

Nozzle & 2t body 
assy #10533-xxx 
or Flow Control 
Nozzle & body 
assy #9223-xxx 

assembled  
Cap, body & 2tN

#11991-xxxx

assembled  
Cap, body & FCN  

#11992-xxxx 

HOW TO  ORdER

28



January 1, 2017

29

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

perforMAnce for 
eVery AppLicAtion
Nelson Irrigation’s full range of flow, throw 
and trajectory options in the r2000 rotator® 
make it a perfect fit for a number of different 
applications including below canopy irrigation 
& over canopy cooling.

STaKE aND  
TubE OPTIONS  

fOR aNy 
aPPLIcaTION.  
SEE PagE 39.
fT4; 3/4 PVc-10; fT5

desCrIptIoN
NEW STyLE  

ROaD guaRD LEgacy ROaD guaRDS fLuSh TOOL R2000 cOW WaSh
NEW STyLE mOTOR  

REmOVaL TOOL
part No. 12213-001 9590-030 9879 9210 11993-xxxx (assembled) 12215

Snap on new style R2000(WF) 
to convert to part-circle 
operation (irrigates 190°).

Low angle 
Road Guard

(irrigates 200°)

High angle 
Road Guard

(irrigates 200°)

Snap on to convert to part-circle 
operation (irrigates 200°). 

cap assy;  k4 12° Plate;  
2T body; 2TN Nozzle  
(#14, #16, #18); adapter 

Removes the motor from 
the R2000(WF).

desCrIptIoN
caP REmOVaL 

TOOL
R2000 PLaTE  

REmOVaL TOOL
2TN NOzzLE

REmOVaL TOOL
R2000

STREam SPLITTER
LEgacy R2000

STREam SPLITTER WEb guaRD
part No. 10689 9620 12260 12056 12057 9895-001

Easily removes the cap 
assembly on the R2000(WF).

Removes the plate from 
the R2000(WF). 

Easily removes the nozzle 
from R2000(WF). 

Protect adjacent tree trunks 
by creating a small wedge 

shape in the wetted pattern.

Use on Legacy Style R2000 to 
protect adjacent tree trunks. 

Place guard into R2000 
body to protect nozzle area 
from spider web intrusion.

accESSORIES
{SEE PagE 33 fOR R2000(Wf) aDaPTER OPTIONS & acmE accESSORIES.}

10' (3.0 m)       18' (5.5 m) 

4' 8' 12' 16' 20' 24' 28'

THROW RADIUS 18' (5.5 m) 25' (7.6 m)

4' 8' 12' 16' 20' 24'

THROW RADIUS

6º invertedANGLE

6º ANGLE

9º 15º 

9º 

ANGLE

9º 15º 24º ANGLE

9º 6º 12º 15º 24º ANGLE

25º ANGLE

25º ANGLE

4' 8' 12' 16' 20' 24'

THROW RADIUS 7' (2.1 m)     14' (4.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36'

THROW RADIUS 20' (6.1 m) 33' (10.1 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40'

THROW RADIUS 23' (7 m) 37' (11.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48'

THROW RADIUS 31' (9.4 m) 45' (13.7 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48' 52'

THROW RADIUS 37' (11.3 m) 50' (15.2 m)

ROTaTOR® SPRINKLERS

desCrIptIoN

cap  
assembly — 
Less Plate Plates

cap assembly 
& Plate 

(assembled)

2T body 
(female 
acme 

Thread)

2TN Nozzle 
(Nozzle 
options  

#8.3 to #16)

2T body & 
2TN Nozzle 
(assembled)

2000fc 
Nozzle body 

(female acme 
Thread)

*Total  
with 2TN 

Nozzle

*Total  
with 

2000fc 
Nozzle

adapter (male 
acme x 3/8”, 
1/2” or 3/4” 

mNPT)

*Total with 
2TN Nozzle 
& Threaded 

adapter

*Total with 
2000fc Nozzle 

& Threaded 
adapter

PVc adapter 
(male acme x 
1/2”, 3/4” or 
25mm Slip)

box 13x13x16”   12x12x10” 13x13x16”  12x12x10” 12x12x8” 12x12x10”  12x12x10” 13x13x16”   13x13x16”

QtY/box 400 500 125 500 500/1200 250 250 100 100 2500/2000/1500   950/700

Lbs/box 18 3 14 24 1/4 9 14 14 14 39/40/44   36/32

 

29

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

30

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

drAin check
  
 

SOLID SET IRRIgaTION / a  S y S T E m S  a P P R O a c h

rotator® teChNoLoGY Is 
CertaINLY MakING Its Mark  
oN soLId set IrrIGatIoN.
the r2000wF has been effectively obsoleting 
1/2” brass impacts everywhere by providing 
superior uniformity in real-world conditions. 
Imitation products just don’t compare.

Combine the r2000wF 
with a Mini regulator drain 
Check or Mini drain Check 
and you ensure no drain 
down on system start up 
and shut down. pressure 
regulation means each 
sprinkler is putting out 
the same amount of water 
further contributing
to high crop uniformity.

 

the MoSt effectiVe 
SoLid Set SySteM, eVer. 

30



January 1, 2017

31

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

controL VALVe
 

AutoMAtion

the pC-r2000wF is a part-Circle 
rotator that distributes water in a 190 
degree arc. It is intended to irrigate 
the edge of a field where full circle 
rotators are used in the interior.

2" & 3" 1000 serIes.
Nelson’s new plastic, low 
profile, sleeve-style valve 
has a spline connection 
option which allows for 
easy installation with 
plastic pipe. zone control 
on a completely pressurized 
system maximizes irrigation 
efficiency.

twIG® wIreLess CoNtroLs.
simply connect Nelson 
twIGs to Nelson Control 
valves and tie into the 
td200 Controller to auto-
mate new or existing 
installations. automatically 
cycle the valves in a 
programmed sequence  
for precision germination 
and irrigation.

  

the MoSt effectiVe 
SoLid Set SySteM, eVer. 

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907 
nelsonirrigation.com   /  info@nelsonirrigation.com

31



January 1, 2017

32

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

hiGh uniforMity in 
reAL WorLd conditionS
the r2000wF is obsoleting 1/2” brass impacts everywhere. 
with no riser vibration, better performance, a low cost and 
less maintenance, the choice is simple.

10' (3.0 m)       18' (5.5 m) 

4' 8' 12' 16' 20' 24' 28'

THROW RADIUS 18' (5.5 m) 25' (7.6 m)

4' 8' 12' 16' 20' 24'

THROW RADIUS

6º invertedANGLE

6º ANGLE

9º 15º 

9º 

ANGLE

9º 15º 24º ANGLE

9º 6º 12º 15º 24º ANGLE

25º ANGLE

25º ANGLE

4' 8' 12' 16' 20' 24'

THROW RADIUS 7' (2.1 m)     14' (4.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36'

THROW RADIUS 20' (6.1 m) 33' (10.1 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40'

THROW RADIUS 23' (7 m) 37' (11.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48'

THROW RADIUS 31' (9.4 m) 45' (13.7 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48' 52'

THROW RADIUS 37' (11.3 m) 50' (15.2 m)

pLate NozzLes

optIoNaL 
CoLor baNd  
(NozzLe I.d.)

NozzLe 
dIaM. IN 
INChes

CoMpLete
r2000wF Cap 
& bodY assY

wF
Motor 
CoLor

CoMpLete
r2000Lp Cap 
& bodY assY

Lp
Motor 
CoLor

FLow  IN GpM / 
Lph @ 50 psI / 
3.5 bar

Wf10
blue
12113 

blue #10 9306-078 12800-010 5/64 9928-1010 Purple 9929-1010 Green 1.25 / 286

Wf12 
Purple
10452

Orange #11 9306-086 12800-011 11/128 9928-1211 Ivory 9929-1211 Green 1.53 / 350

Purple #12 9306-094 12800-012 3/32 9928-1212 Ivory 9929-1212 Green 1.80 / 412

Wf14
Green
9877

Yellow #13 9306-102 12800-013 13/128 9928-1413 Ivory 9929-1413 Purple 2.13 / 487

Green #14 9306-109 12800-014 7/64 9928-1414 Ivory 9929-1414 Purple 2.40 / 550

Wf16
Red
9931

Tan #15 9306-117 12800-015 15/128 9928-1615 Ivory 9929-1615 Purple 2.82 / 647

Red #16 9306-125 12800-016 1/8 9928-1616 Ivory 9929-1616 Purple 3.23 / 739

Wf18
Yellow
9870

Gold #18 9306-141 12800-018 9/64 9928-1818 Ivory 9929-1818 Purple 4.11 / 940

Wf20
brown
9878

brown #20 9306-156 12800-020 5/32 9928-2020 Ivory 9929-2020 Purple 5.0 / 1144

ROTaTOR® SPRINKLERS

(body 9920)

Optional color band for Nozzle I.D. 
see part Numbers below. 

(No factory assembly.) 

r2000wF
Cap assembly
10299-1xx  
(xx = plate #)

r2000Lp
Cap assembly
10299-2xx
(xx = plate #)

body & Nozzle 
assembly
9920-0xx
(xx = nozzle #)

 
 

Complete r2000wF
Cap & body assembly

9928-xxxx

Complete r2000Lp
Cap & body assembly

9929-xxxx

HOW TO  ORdER

or 

Need Male acme x pvC adapter 
or Male acme x MNpt adapter

32



January 1, 2017

33

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

desCrIptIoN Pc-R2000Wf/LP fLuSh TOOL
NEW STyLE 

ROaD guaRD
NEW STyLE mOTOR  

REmOVaL TOOL
caP REmOVaL 

TOOL
part No. 10242-xxxx 11296-xxxx 9210 12213-001 12215 10689

(i.e. R2000WF 
WF12 #11 is 
10242-1211)

(i.e. R2000LP 
WF12 #11 is 
11296-1211)

Snap on new style R2000(WF) to 
convert to part-circle operation 

(irrigates 190°). See page 29 
for Legacy Road Guards.

Removes the motor from 
the R2000(WF).

Easily removes the cap 
assembly on the R2000(WF).

desCrIptIoN
2TN NOzzLE

REmOVaL TOOL
male acme x PVc  
Socket adapter

male acme x  
mNPT adapter

Threaded cap
for acme adapter

female acme x  
1/2” PVc Spigot

Pressure gauge
Tap Kit

part No. 12260 10615 10352
10366-001    0-60 PSI
10366-002   0-100 PSI
10366-003   0-160 PSI

Easily removes the nozzle 
from R2000(WF). 

1/2” - 10060-001
3/4” - 10060-002

25 mm - 10060-003

3/8” - 9465
1/2” - 9316-002

3/4” - 9466

connects to acme thread 
and acts as a shut off cap. 

Enables easy attachment 
to a PVc riser.

accESSORIES

STaKE aND TubE OPTIONS  
fOR aNy aPPLIcaTION.  

SEE PagE 39.
fT4; 3/4 PVc-10, fT5

ROTaTOR® SPRINKLERS

desCrIptIoN

cap  
assembly —  
Less Plate Plates

cap assembly 
& Plate 

(assembled)

Wf body 
(female acme 

Thread)

2TN Nozzle 
(Nozzle options 

#10 to #20)

Wf body & 
2TN Nozzle 
(assembled)

*Total with 2TN 
Nozzle

adapter (male 
acme x 3/8”, 
1/2” or 3/4” 

mNPT)

*Total with 
2TN Nozzle 
& Threaded 

adapter

PVc adapter 
(male acme x 
1/2”, 3/4” or 
25mm Slip)

box 12x12x10”   12x12x8” 13x13x16”  12x12x4” 12x12x10” 12x12x10” 13x13x16”  13x13x16”

QtY/box 125 500 125 250 1200 250 100 2500/2000/1500 950/700

Lbs/box 8 3 9 22 4 14 14 39/40/44 36/32

NEW! R2000/Wf
cOLOR baND fOR  
quIcK NOzzLE
IDENTIfIcaTION
see part Numbers on page 32.  
No factory assembly.  

33

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

34

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

direct 3/4” iMpAct 
repLAceMent
while brass sprinklers are prone to damage, clogging and theft, the r33 is 
easy to clean, easy to repair and costs less to replace. without a drive arm, 
the sprinkler creates no riser vibration. It also has a long wear life because 
no seals or bearings are exposed to water pressure. the r33 is also available 
in a low pressure model, the r33Lp.

10' (3.0 m)       18' (5.5 m) 

4' 8' 12' 16' 20' 24' 28'

THROW RADIUS 18' (5.5 m) 25' (7.6 m)

4' 8' 12' 16' 20' 24'

THROW RADIUS

6º invertedANGLE

6º ANGLE

9º 15º 

9º 

ANGLE

9º 15º 24º ANGLE

9º 6º 12º 15º 24º ANGLE

25º ANGLE

25º ANGLE

4' 8' 12' 16' 20' 24'

THROW RADIUS 7' (2.1 m)     14' (4.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36'

THROW RADIUS 20' (6.1 m) 33' (10.1 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40'

THROW RADIUS 23' (7 m) 37' (11.3 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48'

THROW RADIUS 31' (9.4 m) 45' (13.7 m)

4' 8' 12' 16' 20' 24' 28' 32' 36' 40' 44' 48' 52'

THROW RADIUS 37' (11.3 m) 50' (15.2 m)

desCrIptIoN
R33/R33LP

fLuSh TOOL
R33/R33LP

ROaD guaRD
R33/R33LP

3/4” mNPT aDaPTER
R33/R33LP

KEEPER
33TN NOzzLE

REmOVaL TOOL

DIffuSER/mOTOR
INSTaLLaTION/REmOVaL

TOOL
part No. 11161-001 11161-002 11363 11344 11344-001 11417 11473 11478

(Short) (Long)   adapter 
w/ keeper 

(assembled) 

  

R33/R33LP
ROTaTOR® SPRINKLERS

assembled 
r33 Cap,  

body & 
adapter

#11466-10xx

assembled 
r33Lp Cap, 

body & 
adapter

#11466-11xx 

HOW TO  ORdER

desCrIptIoN
R33 / R33LP Sprinkler 
assembly & adapter

box 12x12x10”

QtY/box 50

Lbs/box  11

WE REcOmmEND ThaT ThE R33 & R33LP 
bE STOcKED aND PuRchaSED aS a fuLL 
aSSEmbLy.  PLEaSE ORDER aLL OThER PaRTS 
fOR ThE PuRPOSE Of REPaIRS ONLy.

r33 has gray motor and r33Lp 
has purple motor.

pLate NozzLe

asseM-
bLed bodY 
& NozzLe

asseMbLed 
r33 Cap & 

pLate

asseMbLed 
r33Lp Cap 
& pLate

asseM-
bLed r33 

Cap, bodY & 
adapter

asseM-
bLed r33Lp 
Cap, bodY & 

adapter

asseMbLed 
r33 Cap, 
bodY (No 
adapter)

asseMbLed 
r33Lp Cap, 
bodY (No 
adapter)

FLow  IN 
GpM / Lph 
@ 50 psI / 

3.5 bar

#18  
Gold

Gold 
(9/64”)
11078-018

11333-018 11335-018 11335-118 11466-1018 11466-1118 11336-018 11336-118 4.07 / 931

#20  
brown
  

brown 
(5/32”)
11078-020

11333-020 11335-020 11335-120 11466-1020 11466-1120 11336-020 11336-120 5.00 / 1143

#22  
Gray  

Gray 
(11/64”)
11078-022

11333-022 11335-022 11335-122 11466-1022 11466-1122 11336-022 11336-122 6.01 / 1375

#24  
Green
  

Green 
(3/16”)
11078-024

11333-024 11335-024 11335-124 11466-1024 11466-1124 11336-024 11336-124 7.16 / 1639

#26 
Maroon
  

Maroon 
(13/64”)
11078-026

11333-026 11335-026 11335-126 11466-1026 11466-1126 11336-026 11336-126 LP ONLY
8.45 / 1935

10974-018

10974-020

10974-022

10974-024

10974-026

adapter 
#11344 

body 
#11076

R33 cap assy 
Less Plate 
#11334-001
& R33LP cap 
assy Less Plate
#11334-002

34



January 1, 2017

35

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

Mini preSSure
reGuLAtorS/
drAin checkS

3/4" & 1"  
preSSure 
reGuLAtorS

MrdC 11150-0xx
Mr 11146-0xx

MdC 11154-020 or -035

1/2" MNPT X MALE ACME THD 1/2" MNPT X 1/2" MNPT THD 1/2" FNPT X 1/2" MNPT THD1/2" FNPT X MALE ACME THD1/2" ACME X MALE ACME THD 1/2" ACME X 1/2" MNPT THD

1/2” fNPT INLET x 
1/2” mNPT OuTLET

MrdC 10406-0xx
Mr 10020-0xx

MdC 11140-020 or -035

1/2" MNPT X MALE ACME THD 1/2" MNPT X 1/2" MNPT THD 1/2" FNPT X 1/2" MNPT THD1/2" FNPT X MALE ACME THD1/2" ACME X MALE ACME THD 1/2" ACME X 1/2" MNPT THD

1/2” fNPT INLET
x acmE OuTLET

MrdC 10407-0xx
Mr 10099-0xx

MdC 11139-020 or -035

1/2" MNPT X MALE ACME THD 1/2" MNPT X 1/2" MNPT THD 1/2" FNPT X 1/2" MNPT THD1/2" FNPT X MALE ACME THD1/2" ACME X MALE ACME THD 1/2" ACME X 1/2" MNPT THD

acmE INLET x
acmE OuTLET

3/4” fNPT  
x 3/4” fNPT

3/4” fhT  
x 3/4” mhT

3/4” fNPT  
x 3/4” mhT

3/4” fNPT  
x acmE

1” fNPT  
x 1” fNPT

1”fbSPT  
x 1” fbSPT

pressure uni-flo hi-flo pressure uni-flo pressure uni-flo pressure uni-flo pressure uni-flo pressure uni-flo

6 PSI 9491-001 9071-001 6 PSI 9561-001 6 PSI 9581-001 30 PSI 9610-006 20 PSI 11257-020 20 PSI 11420-020

10 PSI 9491-002 9071-002 10 PSI 9561-002 10 PSI 9581-002 40 PSI 9610-007 25 PSI 11257-025 25 PSI 11420-025

15 PSI 9491-003 9071-003 15 PSI 9561-003 15 PSI 9581-003 50 PSI 9610-008 30 PSI 11257-030 30 PSI 11257-030

20 PSI 9491-004 9071-005 20 PSI 9561-004 20 PSI 9581-004 40 PSI 11257-040 35 PSI 11420-035

25 PSI 9491-005 9071-006 25 PSI 9561-005 25 PSI 9581-005 50 PSI 11257-050 40 PSI 11420-040

30 PSI 9491-006 9071-007 30 PSI 9561-006 30 PSI 9581-006 50 PSI 11420-050

35 PSI 9491-009 9071-010 35 PSI 9561-009 35 PSI 9581-009

40 PSI 9491-007 9071-008 40 PSI 9561-007 40 PSI 9581-007

50 PSI 9491-008 9071-009 50 PSI 9561-008 50 PSI 9581-008

60 PSI 9491-012 N/a

*Mini Regulator drain check (MRdc) and Mini Regulator (MR) are available in 
20, 30, 35, 40, 45, 50, 55 or 60 PSI ( 1.4, 2.1, 2.4, 2.8, 3.1, 3.4 or 4.1 baR) nominal 
pressures in the connection types shown above. **The Mini drain check 
(Mdc) is a check valve only that opens    at or near the available 20 or 35 PSI 
(1.4-2.4 baR) nominal pressures in the connection types shown above.

1/2” mINI PRESSuRE REguLaTORS  
& DRaIN chEcKS

desCrIptIoN
mini Regulator Drain 

check* (brown)
mini Regulator* 

(gray)
mini Drain check** 

(green)

box 12x12x8” 12x12x8”  12x12x8”

QtY/box 150 150 150

Lbs/box 18 18 18

pLate NozzLe

asseM-
bLed bodY 
& NozzLe

asseMbLed 
r33 Cap & 

pLate

asseMbLed 
r33Lp Cap 
& pLate

asseM-
bLed r33 

Cap, bodY & 
adapter

asseM-
bLed r33Lp 
Cap, bodY & 

adapter

asseMbLed 
r33 Cap, 
bodY (No 
adapter)

asseMbLed 
r33Lp Cap, 
bodY (No 
adapter)

FLow  IN 
GpM / Lph 
@ 50 psI / 

3.5 bar

#18  
Gold

Gold 
(9/64”)
11078-018

11333-018 11335-018 11335-118 11466-1018 11466-1118 11336-018 11336-118 4.07 / 931

#20  
brown
  

brown 
(5/32”)
11078-020

11333-020 11335-020 11335-120 11466-1020 11466-1120 11336-020 11336-120 5.00 / 1143

#22  
Gray  

Gray 
(11/64”)
11078-022

11333-022 11335-022 11335-122 11466-1022 11466-1122 11336-022 11336-122 6.01 / 1375

#24  
Green
  

Green 
(3/16”)
11078-024

11333-024 11335-024 11335-124 11466-1024 11466-1124 11336-024 11336-124 7.16 / 1639

#26 
Maroon
  

Maroon 
(13/64”)
11078-026

11333-026 11335-026 11335-126 11466-1026 11466-1126 11336-026 11336-126 LP ONLY
8.45 / 1935

35

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com

 

desCrIptIoN
3/4” fNPT 

uni-flo
3/4” hT (hose 

Thread) uni-flo
3/4” fNPT 

hi-flo
1” fNPT uni-flo  

(PR Series)
1” fbSPT uni-flo  

(PR Series)

box 12x12x13” 12x12x13” 12x12x11” 
contact Factory for 
pricing information.

contact Factory for 
pricing information. QtY/box 100 100 50

Lbs/box 30 30 25



January 1, 2017

36

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

rotAtor® feedtuBe  
ASSeMBLieS
STaKE & TubE OPTIONS fOR aNy aPPLIcaTION

Shallow bury the poly-
ethylene lateral tubing for 
protection and to anchor it 
in place. Shallow bury the 
feed tube for protection.

fEEDTubE 
(Protected by Pipe)

LTO, baRb x baRb

DISTaNcE 
fROm TOP TO 

ExIT hOLE 

a PVc STaKE IS INExPENSIVE, 
PROTEcTS ThE TubINg, aND IS 
much STRONgER ThaN OThER 
mIcRO IRRIgaTION STaKES. 

NO ExPOSED TubINg 
fOR RODENTS 
TO chEW

36



January 1, 2017

37

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

½ pvC-4 fEEDTubE aSSEmbLy fOR ThE R5 (#40-50 OR 8.5-18 gPh)

desCrIptIoN
PVc Stake 
adapter

flexible PVc feedtube & LTO —  
4 mm x 24” (61 cm)

1/2” PVc Stake 12” (30 cm) 
assembled

1/2” PVc Stake 15” (38 cm) 
assembled

1/2” PVc Stake 18” (46 cm) 
assembled

part No. 11258 9960-924 11260-21224 11260-21530 11260-21830

(Gray) — 4 mm 4 mm barb assembly
Hole 4” from top,  

PVc Stake adapter, 4 mm x 24” 
(61 cm) Tube w/ barb (assy)

Hole 4.5” from top, PVc Stake 
adapter, 4 mm x 30” (76 
cm) Tube w/ barb (assy)

Hole 8” from top, PVc Stake 
adapter, 4 mm x 30” (76 

cm) Tube &w/ barb (assy) 
See page 36 for illustration of the assembly - note distance from top to exit holes.

   

ft-01 fEEDTubE aSSEmbLy fOR ThE R5 (uPRIghT mOuNT)

desCrIptIoN

4 mm x 24” (61 
cm) flexible PVc 
feedtube & LTO

4 mm x 30” (76 
cm) flexible PVc 
feedtube & LTO

4 mm x 36” (91 
cm) flexible PVc 
feedtube & LTO

Stake 12”  
(300 mm)

Stake 17.5”  
(450 mm)

Stake 12" 
(300 mm) 

assembled

Stake 12" 
(300 mm) 

assembled

Stake 17.5" 
(450 mm) 

assembled
part No. 9960-924 9960-930 9960-936 10847 10848 10745-024 10745-036 10744-036

4 mm barb assembly 4 mm barb assembly 4 mm barb assembly Stake 12” 
(300 mm)

Stake 17.5” 
(450 mm)

4mm x 24" (61 cm) 
Tube w/barb

4mm x 36" (91 cm) 
Tube w/barb

4mm x 36" (91 cm) 
Tube w/barb

30” (76 cm) feedtube not available as stake assembly. 
The fT-02 assembly for the inverted mount of the R5 requires adapter, feedtube & LTO, (2) hanger Rod clips and a fiberglass Plastic Rod Stake or Steel Rod Stake.

  

ft-03 fEEDTubE aSSEmbLy fOR ThE R5 (uPRIghT mOuNT)

desCrIptIoN
R5 Rod 

Stake adapter

4 mm x 24” (61 cm) 
flexible PVc 

feedtube & LTO

4 mm x 30” (76 cm) 
flexible PVc 

feedtube & LTO

4 mm x 36” (76 cm) 
flexible PVc 

feedtube & LTO

6.3 mm fiberglass 
Plastic Rod 

Stake 24” (61 cm)

6.3 mm Steel 
Rod Stake 
24” (61 cm)

part No. 10136 9960-924 9960-930 9960-936 10040-024 9726-024
4 mm barb assembly 4 mm barb assembly 4 mm barb assembly

For complete assembly order adapter, feedtube and stake.

4 MM feedtuBe  
optionS for the r5

ROTaTOR® fEEDTubE aSSEmbLIES

TOOLS & PaRTS fOR 4 mm aSSEmbLIES
desCrIptIoN part No.

4 mm Tubing, 1,000’ (305 m) coil 10081-002
hand Punch Tool, 4 mm (green) 10997
Stake Installation Tool for the 6.3 mm Stake 10287
LTO, barb x barb 10080
goof Plug (Order in 20s) 9986
hanger Rod clip (2 required for inverted mounting) 9987

37

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

38

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

ft2 fEEDTubE aSSEmbLy fOR ThE R5 POP-uP & R10

desCrIptIoN

   
Stake adapter, 

acme

Tubing assy, 
flexible, 5 mm x 

30" with LTO

Tubing assy, 
flexible, 5 mm x 

42" with LTO

6.3 mm  
Steel Rod Stake  

24” (61 cm)

6.3 mm fiberglass 
Plastic Rod Stake 

24” (61 cm)

fT2 Total with 30” 
Tube assembled 

(does not include stake)

fT2 Total with 42” 
Tube assembled 

(does not include stake)
part No. 9677 11283-030 11283-042 9726-024 10040-024 9741-030 9741-042

½ pvC-5 fEEDTubE aSSEmbLy fOR ThE R5 & R10 (#40-60, .35 & .5 fcN)

desCrIptIoN

1/2" PVc  
Stake  

adapter

Tubing assy,  
flexible, 5 mm x 30" 

with LTO

Tubing assy,  
flexible, 5 mm x 42" 

with LTO

1/2” PVc Stake  
21” (53 cm) 
assembled

1/2” PVc Stake  
21” (53 cm)
assembled

1/2” PVc Stake 
21” (53 cm) 
assembled

part No. 11271 11283-030 11283-042 11284-22130 11284-22142 11284-32130

5 mm compression x 
Male acme (black) 

Hole 9.5” from top, PVc 
Stake adapter, 5 mm x 

30” (76 cm) Tube w/ barb

Hole 9.5” from top, PVc 
Stake adapter, 5 mm x 42” 

(107 cm) Tube w/ barb

Hole 1.5” from top, PVc 
Stake adapter, 5 mm x 

30” (76 cm) Tube w/ barb

TOOLS & PaRTS fOR 5 mm aSSEmbLIES
desCrIptIoN part No.

5 mm feedtube, 1,000’ (305 m) coil 9284
5 mm x 30” (76 cm) flexible PVc feedtube 9284-030
5 mm x 42” (107 cm) flexible PVc feedtube 9284-042
Stake Installation Tool for the 6.3 mm Stake 10287

fT2 & ¾ PVc-5 hand Punch Tool,  
5 mm (Red) 9349

fT2 & ¾ PVc-5 Drill Punch Tool, 5 mm 9835-003

fT2 & ¾ PVc-5 Dual goof Plug  
(Order in 20s) 9986

converts fT2, fT4, & fT5 to 3/4” PVc Stake 9195
LTO, 5 mm compression x 5 mm barb 9305
LTO, barb x barb (5 mm) 12023

5 MM feedtuBe optionS 
for the r5 & r10

ROTaTOR® fEEDTubE aSSEmbLIES

ft3 fEEDTubE aSSEmbLy fOR ThE R10

desCrIptIoN

Tubing assy, 
flexible, 5mm x 30" 

with LTO

Tubing assy, 
flexible, 5 mm x 42" 

with LTO

fT3 Stake 12"  
(300 mm) 

& adapter assy 

fT3 Stake 17.5"  
(450 mm)  

& adapter assy 

fT3 feedtube assy, 
Stake 12" (300 mm) 

x 30" Tubing

fT3 feedtube assy, 
17.5" (450 mm) Stake 

x 30" Tubing

fT3 feedtube assy, 
17.5" (450 mm) Stake 

x 42" Tubing
part No. 11283-030 11283-042 12599 12598 12601-030 12600-030 12600-042

  

¾ pvC-5 fEEDTubE aSSEmbLy fOR ThE R5 & R10

desCrIptIoN
3/4” PVc Stake  

adapter

Tubing assy,  
flexible, 5mm x 30" 

with LTO

3/4” PVc Stake  
21” (53 cm) 
assembled

part No. 11429 11283-030 11455-12130

5 mm compression 
x Male acme

Hole 10” from top, PVc 
Stake adapter, 5 mm x 

30” (76 cm) Tube w/ barb

 

PLEaSE NOTE: fEmaLE acmE x R5 
aDaPTER (#10616) IS REquIRED WhEN 
uSINg R5 WITh 5mm fEEDTubE OPTIONS. 

38



January 1, 2017

39

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

10 MM feedtuBe optionS 
for r10-r2000Wf

ROTaTOR® fEEDTubE aSSEmbLIES

ft4 fEEDTubE aSSEmbLy fOR ThE R10, R10T, R2000, R2000LP & R2000Wf

desCrIptIoN

Steel Rod  
Stake adapter  

acme

10 mm x 36” (91 
cm) flexible PVc 

feedtube

LTO, 10 mm 
compression x  

7 mm barb

8 mm  
Steel Rod Stake  

24” (61 cm)

8 mm fiberglass 
Plastic Rod Stake 

24” (61 cm)

fT4 Total 
(components 

Only)

fT4 Total assembled
(does not  

include stake)
part No. 9677 9099-036 9774 9725-024 10160   9752-036

¾ pvC-10 fEEDTubE aSSEmbLy fOR ThE R10, R10T, R2000, R2000LP & R2000Wf

desCrIptIoN
3/4" PVc  

Stake adapter
10 mm x 36” (91 cm) flexible 

PVc feedtube
LTO, 10 mm compression x 

7 mm barb
3/4” PVc Stake 21” (53 cm) 

assembled
part No. 11429 9099-036 9774 11452-12136

10 mm compression 
x Male acme  

Hole 10” from top, PVc 
Stake adapter, 10 mm x 36” 

(91 cm) Tube w/ barb

ft5 fEEDTubE aSSEmbLy fOR ThE R10, R10T, R2000, R2000LP & R2000Wf

desCrIptIoN
Steel Rod Stake 
adapter acme

10 mm x 48” (122 
cm) flexible PVc 

feedtube

qc LTO, 10 mm 
compression x 

male qc

qc barb,  
female qc x  
10 mm barb

Steel Rod  
Stake 48”  
(122 cm)

fT5  
Total  

(components only)

fT5 Total 
assembled (does 
not include stake)

part No. 9677 9099-048 9740 9739 9725-048  9737-048

TOOLS & PaRTS fOR 5 mm aSSEmbLIES
desCrIptIoN part No.

5 mm feedtube, 1,000’ (305 m) coil 9284
5 mm x 30” (76 cm) flexible PVc feedtube 9284-030
5 mm x 42” (107 cm) flexible PVc feedtube 9284-042
Stake Installation Tool for the 6.3 mm Stake 10287

fT2 & ¾ PVc-5 hand Punch Tool,  
5 mm (Red) 9349

fT2 & ¾ PVc-5 Drill Punch Tool, 5 mm 9835-003

fT2 & ¾ PVc-5 Dual goof Plug  
(Order in 20s) 9986

converts fT2, fT4, & fT5 to 3/4” PVc Stake 9195
LTO, 5 mm compression x 5 mm barb 9305
LTO, barb x barb (5 mm) 12023

TOOLS & PaRTS fOR 10 mm aSSEmbLIES
desCrIptIoN part No.

10 mm feedtube, 500’ (152.4 m) coil 9099
¾ PVc-10 & fT4 hand Punch Tool, 7 mm (blue) 9810
¾ PVc-10 & fT4 Drill Punch Tool, 7 mm 9835-002
¾ PVc-10 & fT4 goof Plug 10301
fT5  hand Punch Tool, 10 mm (White) 9776
fT5  Drill Punch Tool, 10 mm 9835-001
fT5  Drill Installation Tool, installs #9739 (qc barb) of fT5 9845
fT2, fT4 & fT5  Stake Installation Tool for the 8 mm Stake 10288
fT5  Plug, Rubber (fits inside of #9739 qc barb) 9826
fT5  Plug, goof (fits in place of #9739 qc barb) 9831
converts fT2, fT4, & fT5 to 3/4” PVc Stake 9195
¾ PVc-10, fT4 & fT5  coupler 10 mm 9813
¾ PVc-10, fT4 & fT5 ½” Spigot x 10 mm compression 10623

ft1 REPaIR PaRTS (5 mm)
desCrIptIoN part No.

fT1 collar adapter 3/8” fNPT 9262
5 mm x 30” (76 cm) flexible PVc feedtube 9284-030
LTO, 5 mm compression x 5 mm barb 9305
LTO, barb x barb (5 mm) 12023
Tubing assy, flexible, 5 mm x 30" with LTO 11283-030
Tubing assy, flexible, 5 mm x 42" with LTO 11283-042

39

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

40

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

S5 Spinner for tree/
Vine/nurSery

NOW ThERE IS a RELIabLE OPTION fOR a SPINNINg 
SPRINKLER ThaT haNgS IN aN INVERTED POSITION.

4 mm Flexible pvC Feedtube 
& Lto, 4 mm barb assembly
#9960-912 — 12” (30.5 cm)
#9960-918 — 18” (48 cm)   
#9960-924 — 24” (61 cm)

pvC pipe weight required
(dealer supplied)

Lto, barb x barb

#11258 pvC stake 
adapter (Gray) — 4 mm

cOmPLETE aSSEmbLIES INcLuDE: 
4 mm tubing, Lto & 11258 adapter

#12422-012 — 12” assembly
#12422-018 — 18” assembly

#12422-024 — 24” assembly
pvC pipe weight (not included)

fT-04 STaKE 
aSSEmbLy

40



January 1, 2017

41

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

desCrIptIoN
Standard S5 assembly 

including Plate & Nozzle
S5 assembly including Plate  

& fcN Nozzle

box 12x12x4” 12x12x4”  

QtY/box 200/1000 200/1000

S5
fT-04 fEEDTubE aSSEmbLy fOR ThE S5 (INVERTED mOuNT)

desCrIptIoN PVc Stake adapter

4 mm x 12” (30.5 cm) 
flexible PVc feedtube 

& LTO, 4 mm barb

4 mm x 18” (61 cm) 
flexible PVc feedtube 

& LTO, 4 mm barb

4 mm x 24” (61 cm) 
flexible PVc feedtube 

& LTO, 4 mm barb

PVc adapter, 4 mm x 
12” (30.5 cm) flexible 
PVc feedtube/LTO, 4 

mm barb

4 mm x 18”  
(48 cm) flexible PVc 

feedtube/LTO,  
4 mm barb

4 mm x 24”  
(61 cm) flexible PVc 

feedtube/LTO,  
4 mm barb

part No. 11258 9960-912 9960-918 9960-924 12422-012 12422-018 12422-024

(Gray) — 4 mm barb assembly barb assembly barb assembly complete assembly complete assembly complete assembly

30” (76 cm) feedtube not available as stake assembly.

Lto, barb x barb

pressure IN psI pressure IN bar
15 20 25 30 35 40 1.0 1.5 1.75 2.0 2.5 2.75

NozzLe part No. Gph r (Ft.) Gph r (Ft.) Gph r (Ft.) Gph r (Ft.) Gph r (Ft.) Gph r (Ft.) Lph r (M) Lph r (M) Lph r (M) Lph r (M) Lph r (M) Lph r (M)

#35 Orange 11826-235 9.5 10 10.5 10 11.4 10 12.1 10 36 3.0 39 3.0 44 3.0 46 3.0

#40 blue 11826-240 9.3 9 10.8 10 12.2 10 13.3 11 14.4 11 15.5 11 43 3.0 46 3.0 49 3.4 56 3.4 59 3.4

#45 Purple 11826-245 11.7 10 13.7 10 15.4 11 16.8 11 18.2 11 19.6 11 44 3.0 54 3.0 59 3.4 63 3.4 67 3.4 74 3.4

#50 Green 11826-250 14.3 10 16.8 10 18.8 11 20.6 11 22.3 12 53 3.0 66 3.0 72 3.4 77 3.4 81 3.7

#55 Yellow 11826-255 17.4 10 20.3 11 22.8 11 25 12 65 3.0 80 3.4 87 3.4 93 3.7

8.5 Orange 5Fc* 11826-209 * 10 * 9 * 9 * 8 * 3.0 * 2.7 * 2.7 * 2.4

11 blue 5Fc* 11826-211 * 10 * 11 * 10 * 9 * 9 * 3.0 * 3.4 * 3.0 * 2.7 * 2.7

14 Purple 5Fc* 11826-214 * 10 * 10 * 11 * 11 * 11 * 11 * 3.0 * 3.0 * 3.4 * 3.4 * 3.4 * 3.4

18 Yellow 5Fc* 11826-218 * 9 * 10 * 11 * 12 * 12 * 2.7 * 3.0 * 3.4 * 3.7 * 3.7

24 Red 5Fc* 11826-224 * 9 * 11 * 12 * 13 * 2.7 * 3.4 * 3.7 * 4.0

*when using recommended pressures for a given plate and nozzle configuration, 5FC Flow Control Nozzles are flow regulating within a flow range of no more than 3% greater 
and 5% less than the nominal flow. 8.5 orange 5FC nominal flow is 8.5 Gph (32 Lph), 11 blue 5FC nominal flow is 11 Gph (42 Lph), 14 purple 5FC nominal flow is 14 Gph (53 Lph), 18 
Yellow 5FC nominal flow is 18 Gph (86 Lph), 24 red 5FC nominal flow is 24 Gph (91 Lph).  

S5 SPINNER W/ WINE 5° PLaTE fLOW & RaDIuS (u.s. & Metric units)

S5 SPINNER fOR TREE/VINE/NuRSERy

NOZZLE

#35 Orange  
#40 blue 
#45 Purple  
#50 Green   
#55 Yellow  

FLOW CONTROL NOZZLE

8.5 (#9) GPH Orange
#11 GPH blue
#14 GPH Purple
#18 GPH Yellow
#24 GPH Red

11826-2XX 

41

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.comTel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

42

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

0° Trajectory

THREAD

acme = 001
1/2” = 002

10135-XXX

PLATE

Green 7° = 1
black 24° = 2

Gray 0° = 3

THREAD

acme = 000
1/2” = 001

10078-XXXX

NuRSERy & gREENhOuSE SPRINKLERS

desCrIptIoN

10135-xxx 
D10 Spray Plate & body 

assembly 
(specify plate & base)

9306-xxx
2TN Nozzle 

(specify size: 10, 11, 12,  
13, 14, 15, 16, 17, 18 or 20)

12928-xxxx D10 
assembly w/ body,  
Plate & 2TN Nozzle 

(specify 1/2” or acme base - 
acme requires adapter)

9465 
adapter 

(Male acme x 3/8”, 1/2”  
or 3/4” MNpt)

10060-xxx
PVc adapter 

(Male acme x 1/2”, 3/4”  
or 25mm slip)

complete  
D10  
with  

PVc adapter

complete  
D10  
with  

Threaded adapter

box 12x12x8”   12x12x8” 13x13x16”  13x13x16”   

QtY/box 300  300 2500/2000/1500 950/700   

Lbs/box 8  9 39/40/44 36/32   

 

desCrIptIoN

10078-xxx
S10 Spinner Plate & 

body assembly  
(specify plate & base)

9306-xxx
2TN Nozzle 

(specify size: 10, 11, 12,  
13, 14, 15, 16, 17, 18 or 20)

12884-xxx S10 
assembly w/ body,  
Plate & 2TN Nozzle  

(specify 1/2” or acme base - 
acme requires adapter)

9465
adapter 

(Male acme x 3/8”, 1/2”  
or 3/4” MNpt)

10060-xxx
PVc adapter 

(Male acme x 1/2”, 3/4”  
or 25mm slip)

complete  
S10  
with  

PVc adapter

complete  
S10  
with  

Threaded adapter

box 12x12x8”   12x12x8” 13x13x16”  13x13x16”   

QtY/box 300  300 2500/2000/1500 950/700   

Lbs/box 9  10 39/40/44 36/32   

 

THREAD

1/2” = 1
acme = 2

PLATE

Green 7° = 1
black 24° = 2
Gray 0° = 3

12884-XXXX (Assembled)
NOZZLE

EXAmPLE:

s10 spinner with  
acme thread (2), 
Green plate (1) and 
turquoise #17 Nozzle 
(17) = #12884-2117

THREAD

1/2” = 10
acme = 20

NOZZLE 

12928-XXXX (Assembled)
EXAmPLE:

d10 spray with  
acme thread (20) 
and turquoise  
#17 Nozzle (17)  
= #12928-2017

42



January 1, 2017

43

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

NuRSERy & gREENhOuSE SPRINKLERS

NOzzLES aND aDaPTER OPTIONS

desCrIptIoN
male acme x PVc  
Socket adapter

male acme x  
mNPT adapter

Threaded cap
for acme adapter

female acme x  
1/2” PVc Spigot

Pressure gauge
Tap Kit

part No. 10615 10352
10366-001    0-60 PSI
10366-002   0-100 PSI
10366-003   0-160 PSI

1/2” - 10060-001
3/4” - 10060-002

25mm - 10060-003

3/8” - 9465
1/2” - 9316-002

3/4” - 9466

connects to acme 
thread and acts 

as a shut off cap. 

Enables easy 
attachment to 

a PVc riser.

the perForMaNCe aNd versatILItY oF NeLsoN sprINkLers oFFer up a NuMber oF 
GreeNhouse waterING soLutIoNs. to MINIMIze CLutter aNd MaxIMIze eFFICIeNCY,  
the s10, d10, aNd r10tG (INverted or uprIGht) are IdeaL sINGLe-row soLutIoNs.

THREAD/PLATE

1/2” with Gray plate 0°= 000
1/2” with Green plate 7° = 001
1/2” with black plate 24° = 002
acme with Gray plate 0° = 003
acme with Green plate 7° = 004
acme with black plate 24° = 005

9914-8XXX

ROTATOR®

desCrIptIoN

9914-8xxx
R10Tg Plate & body 

assembly  
(specify plate & base)

9306-xxx
2TN Nozzle 

(specify size: 10, 11, 12,  
13, 14, 15, 16, 17, 18 or 20)

12927-xxxx R10Tg 
assembly w/ body,  
Plate & 2TN Nozzle  

(specify 1/2” or acme base - 
acme requires adapter)

9465
adapter 

(Male acme x 3/8”, 1/2”  
or 3/4” MNpt)

10060-xxx
PVc adapter 

(Male acme x 1/2”, 3/4”  
or 25mm slip)

complete  
R10Tg  
with  

PVc adapter

complete  
R10Tg 
with  

Threaded adapter

box 12x12x8”   12x12x8” 13x13x16”  13x13x16”   

QtY/box 300  300/600 2500/2000/1500 950/700   

Lbs/box 10  11/23 39/40/44 36/32   

 

2tN NozzLes part No.
FLow IN GpM

@ 35 psI
FLow IN Lph

@ 2.5 bar

#10 blue #9306-078 1.05 242

#11 Orange #9306-086 1.27 294

#12 Purple #9306-094 1.50 347

#13 Yellow #9306-102 1.78 411

#14 Green #9306-109 2.00 463

#15 Tan #9306-117 2.35 544

#16 Red #9306-125 2.70 624

#17 Turquoise #9306-133 3.08 711

#18 Gold #9306-141 3.44 795

#20 brown #9306-156 4.18 966

upriGht & inVerted 
nurSery SoLutionS   

t

THREAD

1/2” = 1
acme = 2

PLATE

Green 7° = 1
black 24° = 2
Gray 0°= 3

12927-XXXX (Assembled)
NOZZLE

EXAmPLE:

r10tG rotator with  
acme thread (2), 
Green plate (1) and 
red #16 Nozzle (16)
= #12927-2116

43

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

44

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

desCrIptIoN part NuMber

Mp rotator repLaCeMeNt sCreeNs  
Mp800sr 90-210  12331 
Mp800sr 360; Mp1000/2000/Corner/strips (white) 10515-001  
Mp1000t/2000t/Corner t/strips t (light blue) 10580-001  
Mp3000 (light green) 10655      
Mp3000t (tan) 10580-002 

Mp rotator adjustMeNt tooLs, etC.  
arc/radius adjustment tool 10562
Mp Matchstick tool kit  (fits 1” pvC pipe)  11081 

pressure Gauge adapter 10600
Mp rIser (see diagram on the right)

Mp riser (36”) - order IN QuaNtItIes oF 10 10959
Mp rIser CoMpoNeNts

Mp rotator acme adapter 10594 
stake adapter, acme threaded 9677
10mm Flexible tubing, 100’ Coil 9099-002
(Lto) Lateral take-off, 10mm Compression x barb 9774
Fiberglass stake, .3125” (7.9mm) x 36”  10970

Mp rIser aCCessorIes 
1/2” Compression adapter 10623
acme shut-off Cap   10615
punch tool, blue   9810
stake Installation tool — 5/16”  (8mm) 10288

¾” PVC Socket x 
½” Male Acme (10060-002)

Sch. 40 PVC Riser up to 36” Long

Buried 1”± Below 
Soil Surface

Buried 9-12” Below 
Soil Surface

¾” Female Acme x  ¾” PVC 
Socket or 1” PVC Spigot (12214-001)

¾” Female Acme x  ¾” PVC 
Socket or 1” PVC Spigot (12214-001)

¾” Acme  x ¾” MNPT Adapter (11344)
¾” PVC Female Adapter

R2000 Series Rotator

(C. Optional)1 ½” PVC Sleeve
can be used to protect

riser(s) in pastures
& forage crops. 

a. DETACHABLE RISER
WITH BELOW GRADE CONNECTION
 

b. DETACHABLE RISER
WITH AT-GRADE CONNECTION

¾” PVC Socket x 
½” Male Acme (10060-002)

Sch. 40 PVC Riser up to 36” Long

R2000 Series Rotator

¾” Acme  x ¾” MNPT Adapter (11344)
¾” PVC Female Adapter

¾” Riser Base must be rigid.
Can be mounted several
ways depending on pipe depth. 

¾” Riser Base must be rigid.
Can be mounted several
ways depending on pipe depth. 

Quick-connect 
    Fittings For DetAchAble risers

Why DetAchAble risers? solid set irrigation with rotators is an excellent way to irrigate small 
and irregular shaped fields. however, the process of moving pipe in and out of the field several times a season 
is costly and problematic. inexpensive yet rigid detachable risers can be quickly and easily moved out of the 
way of farming operations, then easily reinstalled when it is time to irrigate. now with two sizes of nelson AcMe 
Adapters, growers can choose from a wide range of rotator® sprinkler flow ranges for their specific needs. AcMe 
threads allow users to rethread risers while the system is pressurized, and not cross-thread the risers. the ½” 
AcMe thread is used in 10 series and 2000 series rotator sprinklers. the new ¾” AcMe threaded fittings are 
based on the AcMe thread used in the r33. With these new ¾” AcMe thread fittings, Detachable risers can 
have higher flow rates and be taller than ever before. 

a. shAlloW cUltiVAteD croPs reQUire A bUrieD DetAchAble riser.  
b. DetAchAble risers For crAnberry AnD AlFAlFA ProDUction.  
c. sleeVe-ProtecteD DetAchAble risers in PAstUres & ForAge croPs.  

Overlap Pro
overlap is an online software program (www.overlappro.com)
capable of analyzing the theoretical uniformity of permanent 
or solid set sprinkler spacing. select a specific sprinkler model 
configuration and spacing criteria, and the software will calcu-
late the following:

• Precipitation Rate
• Christiansen's Coefficient of Uniformity (CU)
• Distribution Uniformity (DU)
• Scheduling Coefficient (SC)

overlap also allows you to graphically depict and chart theo-
retical performance for comparative purposes. please contact 
us for more information. 
 

44

IRRIgaTION DESIgN SOfTWaRE
Irricad Pro
call factory for pricing. 
find out more — go to www.irricad.com. IrrICad is a standalone, graphically 
based, computer-aided design package developed specifically for designing 
pressurized irrigation or water supply systems. IrrICad is far more than a draw-
ing package because it combines the advantages of Cad drawing with powerful 
hydraulic pipe sizing and network analysis techniques, and it also provides auto-
matic selection of pipe fittings, thereby generating a complete bill of materials.

systems can be designed to cover a full range of functions including:
        •  Sprinkler/Micro sprinkler
        •  Drip/Drip Tape
        •  Nursery
        •  Dust Suppression
        •  Mainline Networks
        •  Stock Water Systems
        •  Residential/Commercial Turf
        •  Sports Fields/Golf Courses
        •  Systems Pressurized by Gravity

Fittings With  
  ¾” Female Acme thread  

(connects to r33  
Adapter 11344) 

 
12214-003 

cap, female acme x  ¾” PVc Socket 
or 1” PVc Spigot 

 
12214-001

¾” female acme x  ¾” PVc Socket 
or 1” PVc Spigot  



January 1, 2017

45

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

Mp1000 8-15’ radius, stream height @ 30 psI = 16”
Mp1000 (female thread)  = 10759-1210, 10759-1270, 10759-1360
Mp1000t (male thread) =  10760-1210, 10760-1270, 10760-1360

Mp800Sr 6-12’ radius
Mp800Sr (female thread) = 12322-1210, 12322-1360   

Mp2000 13-21’ radius, stream height @ 30 psI = 40”
Mp2000 (female thread)  = 10489-1210, 10489-1270, 10489-1360
Mp2000t (male thread) =  10563-1210, 10563-1270, 10563-1360

Mp StripS 5x15’ pattern
Mp Left Strip 11009-002, Mp Side Strip 11009-001, Mp right Strip 11009-003
Mp Left Strip t 11010-002, Mp Side Strip t 11010-001, Mp right Strip t 11010-003

 Left strip side strip right strip

Mp3500 31-35’ radius, 
Mp3500 (female thread)  =  
11247-1210  

Mp corner 8-15’ radius, stream height @ 30 psI = 10”
mP corner (female thread)  = 10962-1105
Mp corner t (male thread) =  10979-1105

Mp rotAtor® SprinkLerS

MP Rotator 
acme adapter

MP Rotator  

Tie 
(recommended)

Stake 
adapter

Tubing
(36”) 

Mp rIser

MINI reGuLator draIN CheCk 
see page 35. requires 10594 Mp rotator 
acme adapter. use 30, 40  
or 50 psI 10406-xxx (1/2” FNpt x acme or 
10407-xxx (acme x acme). 

MINI reGuLator 
see page 35. requires 10594 Mp rotator 
acme adapter. use 30, 40  
or 50 psI 10020-xxx (1/2” FNpt x acme or 
10099-xxx (acme x acme).

desCrIptIoN part NuMber

Mp rotator repLaCeMeNt sCreeNs  
Mp800sr 90-210  12331 
Mp800sr 360; Mp1000/2000/Corner/strips (white) 10515-001  
Mp1000t/2000t/Corner t/strips t (light blue) 10580-001  
Mp3000 (light green) 10655      
Mp3000t (tan) 10580-002 

Mp rotator adjustMeNt tooLs, etC.  
arc/radius adjustment tool 10562
Mp Matchstick tool kit  (fits 1” pvC pipe)  11081 

pressure Gauge adapter 10600
Mp rIser (see diagram on the right)

Mp riser (36”) - order IN QuaNtItIes oF 10 10959
Mp rIser CoMpoNeNts

Mp rotator acme adapter 10594 
stake adapter, acme threaded 9677
10mm Flexible tubing, 100’ Coil 9099-002
(Lto) Lateral take-off, 10mm Compression x barb 9774
Fiberglass stake, .3125” (7.9mm) x 36”  10970

Mp rIser aCCessorIes 
1/2” Compression adapter 10623
acme shut-off Cap   10615
punch tool, blue   9810
stake Installation tool — 5/16”  (8mm) 10288

Schrader Valve 
Not Included

45

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com

CaLL FaCtorY For prICING — order IN QuaNtItIes oF 10

For turF,  
GreeNhouse
& NurserY

Mp3000 22-30’ radius, stream height @ 40 psI = 79”
Mp3000 (female thread)  = 10661-1210, 10661-1270, 10661-1360
Mp3000t (male thread) =  10662-1210, 10662-1270, 10662-1360



January 1, 2017

46

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

optional for F75, sr75, 
F100, F150 & F200

°

seCoNdarY
NozzLe 

sr100 & sr150 (optional),  
sr200 (standard)

seCoNdarY NozzLe 
kIt 

bIg guN® SPRINKLERS / 7 5 ,  1 0 0 ,  1 5 0  &  2 0 0  S E R I E S 

THE PREFERREd 
cHOIcE FOR TOUGH 

aPPLIcaTIONS 

THE ONLY GUN FOR HOUR 
aFTER HOUR, YEaR 
aFTER YEaR OPERaTION.

dURabLE & RELIabLE 
WITH ENGINEEREd 
SIMPLIcITY

the LeAder in QuALity, perforMAnce & Support 

Model No., trajectory, Connection size & type, Nozzle size & type, 
optional Coatings (anodized or anodized and powder Coated). 
Note: extended lead time may be necessary for large quantities of 
anodized or anodized and powder coated products. Call Factory 
for stainless steel options. 
SPEcIfIcaTION ExamPLE: sr100 24°, 2” FNpt, 100t-0.8”

TO ORDER  
bIg guNS SPEcIfy 

ThE fOLLOWINg:

®

46



January 1, 2017

47

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

sCaN thIs Qr Code to Go dIreCtLY to the 
bIG GuN® seLeCtor tooL at NeLsoNIrrIGatIoN.CoM.

75 SERIES 100 SERIES 150 SERIES 200 SERIES

perForMaNCe 30-160 GPM
(6.8-36.3 M3/H)

50-300 GPM 
(10-70 M3/H)

100-550 GPM
(23-129 M3/H)

250-1000 GPM 
(55-270 M3/H)

ModeL & 
trajeCtorY

Full Circle
F75

part Circle
sr75 

Full Circle
F100

part Circle
sr100

part Circle
sra100

Full Circle
F150

part Circle
sr150

part Circle
sra150

Full Circle
F200

part Circle
sr200

21°, 24°  18°, 21°, 24°, 43° 18°, 21°, 24°, 43° 15-45° 
adjustable 21°, 24° 21°, 24°, 

27°, 43°
15-45° 

adjustable 21°, 24°, 27°

NozzLe 
optIoNs

ta
pe

r

Not available 100t 
(Choice of 10 sizes)

150t 
(Choice of 8 sizes)

200t 
(Choice of 9 sizes)

ta
pe

r 
rI

NG

tr75
(Choice of 9 sizes)

100tr (body, Cap  
& Choice of 9 sizes - 
aluminum or plastic)

Na 
for srNv

150tr (body, Cap  
& Choice of 7 sizes) Not available

rI
NG Not available 100r (body, Cap 

& 7 rings)
150r  (body, Cap 

& 7 rings)
200r (body, Cap 

& 7 rings)

CoNNeCtIoN
1 1/2”  or 2” FNpt or Fbsp,

aNsI/dIN,  
NeLsoN or euro FLaNGe

2” FNpt or Fbsp, 
2 1/2” FNpt,

aNsI/dIN, NeLsoN or  
euro FLaNGe

2” FNpt or 
Fbsp

for srNv

Nelson, euro or 
aNsI/dIN Flange. also, Nelson Flange to 

Female adapters

Nelson, euro or 
aNsI/dIN Flange (sr200 only)  

aLso, NeLsoN FLaNGe to FeMaLe adapters

NeLsoN FLaNGe

1/2-13 Unc 2b threaded through

Use 1/2-13 bolts  
connects to 2” Ansi or 50mm Din Flanges

2.32”
(59mm)

4.62”
(117mm)

5.72”
(145mm)

9.1mm hole Drilled through

Use M8 bolts & nuts
connects to european traveler Flange

56mm 130mm 150mm

Use 5/16-18 bolts
connects to 2” nelson Flange bolt Pattern  

5/16-18 Unc 2b threaded through

2.3”
(59mm)

4.0”
(102mm)

4.6”
(117mm)

Use 1/2-13 bolts 
connects to 3” Ansi or 80mm Din Flanges

1/2-13 Unc 2b threaded through

3.2”
(81mm)

5.88”
(149mm)

6.9”
(175mm)

M8 x 1.25 - 6h threaded through

Use M8 x 1.25 bolts  
connects to european traveler Flange

81mm 130mm 165mm 

Use 3/8-16 bolts & nuts or M10 bolts & nuts
connects to 3” nelson Flange bolt Pattern

.406” (10.3mm) hole Drilled through

3.2”
(81mm)

5.75”
(146mm)

6.5”
(165mm)

Use 1/2-13 bolts 
connects to 4” Ansi or 100mm Din Flanges

1/2-13 Unc 2b threaded through

4.35”
(111mm)

7.74”
(197mm)

8.9”
(226mm)

M8 x 1.25 - 6h thread .75” (19mm) Deep

Use M8 x 1.25 bolts
connects to european traveler Flange   

111mm  130mm 193mm 

Use 3/8-16 bolts & nuts
connects to 4” nelson Flange bolt Pattern
(F200 has same bolt pattern as sr150.)

3/8-16 Unc thread .75” (19mm) Deep

4.35”
(111mm)

5.75”
(146mm)

7.6”
(193mm)

1/2-13 Unc 2b threaded through

Use 1/2-13 bolts  
connects to 2” Ansi or 50mm Din Flanges

2.32”
(59mm)

4.62”
(117mm)

5.72”
(145mm)

9.1mm hole Drilled through

Use M8 bolts & nuts
connects to european traveler Flange

56mm 130mm 150mm

Use 5/16-18 bolts
connects to 2” nelson Flange bolt Pattern  

5/16-18 Unc 2b threaded through

2.3”
(59mm)

4.0”
(102mm)

4.6”
(117mm)

Use 1/2-13 bolts 
connects to 3” Ansi or 80mm Din Flanges

1/2-13 Unc 2b threaded through

3.2”
(81mm)

5.88”
(149mm)

6.9”
(175mm)

M8 x 1.25 - 6h threaded through

Use M8 x 1.25 bolts  
connects to european traveler Flange

81mm 130mm 165mm 

Use 3/8-16 bolts & nuts or M10 bolts & nuts
connects to 3” nelson Flange bolt Pattern

.406” (10.3mm) hole Drilled through

3.2”
(81mm)

5.75”
(146mm)

6.5”
(165mm)

Use 1/2-13 bolts 
connects to 4” Ansi or 100mm Din Flanges

1/2-13 Unc 2b threaded through

4.35”
(111mm)

7.74”
(197mm)

8.9”
(226mm)

M8 x 1.25 - 6h thread .75” (19mm) Deep

Use M8 x 1.25 bolts
connects to european traveler Flange   

111mm  130mm 193mm 

Use 3/8-16 bolts & nuts
connects to 4” nelson Flange bolt Pattern
(F200 has same bolt pattern as sr150.)

3/8-16 Unc thread .75” (19mm) Deep

4.35”
(111mm)

5.75”
(146mm)

7.6”
(193mm)

aNsI/dIN 
CoMpatIbLe

FLaNGe

1/2-13 Unc 2b threaded through

Use 1/2-13 bolts  
connects to 2” Ansi or 50mm Din Flanges

2.32”
(59mm)

4.62”
(117mm)

5.72”
(145mm)

9.1mm hole Drilled through

Use M8 bolts & nuts
connects to european traveler Flange

56mm 130mm 150mm

Use 5/16-18 bolts
connects to 2” nelson Flange bolt Pattern  

5/16-18 Unc 2b threaded through

2.3”
(59mm)

4.0”
(102mm)

4.6”
(117mm)

Use 1/2-13 bolts 
connects to 3” Ansi or 80mm Din Flanges

1/2-13 Unc 2b threaded through

3.2”
(81mm)

5.88”
(149mm)

6.9”
(175mm)

M8 x 1.25 - 6h threaded through

Use M8 x 1.25 bolts  
connects to european traveler Flange

81mm 130mm 165mm 

Use 3/8-16 bolts & nuts or M10 bolts & nuts
connects to 3” nelson Flange bolt Pattern

.406” (10.3mm) hole Drilled through

3.2”
(81mm)

5.75”
(146mm)

6.5”
(165mm)

Use 1/2-13 bolts 
connects to 4” Ansi or 100mm Din Flanges

1/2-13 Unc 2b threaded through

4.35”
(111mm)

7.74”
(197mm)

8.9”
(226mm)

M8 x 1.25 - 6h thread .75” (19mm) Deep

Use M8 x 1.25 bolts
connects to european traveler Flange   

111mm  130mm 193mm 

Use 3/8-16 bolts & nuts
connects to 4” nelson Flange bolt Pattern
(F200 has same bolt pattern as sr150.)

3/8-16 Unc thread .75” (19mm) Deep

4.35”
(111mm)

5.75”
(146mm)

7.6”
(193mm)

1/2-13 Unc 2b threaded through

Use 1/2-13 bolts  
connects to 2” Ansi or 50mm Din Flanges

2.32”
(59mm)

4.62”
(117mm)

5.72”
(145mm)

9.1mm hole Drilled through

Use M8 bolts & nuts
connects to european traveler Flange

56mm 130mm 150mm

Use 5/16-18 bolts
connects to 2” nelson Flange bolt Pattern  

5/16-18 Unc 2b threaded through

2.3”
(59mm)

4.0”
(102mm)

4.6”
(117mm)

Use 1/2-13 bolts 
connects to 3” Ansi or 80mm Din Flanges

1/2-13 Unc 2b threaded through

3.2”
(81mm)

5.88”
(149mm)

6.9”
(175mm)

M8 x 1.25 - 6h threaded through

Use M8 x 1.25 bolts  
connects to european traveler Flange

81mm 130mm 165mm 

Use 3/8-16 bolts & nuts or M10 bolts & nuts
connects to 3” nelson Flange bolt Pattern

.406” (10.3mm) hole Drilled through

3.2”
(81mm)

5.75”
(146mm)

6.5”
(165mm)

Use 1/2-13 bolts 
connects to 4” Ansi or 100mm Din Flanges

1/2-13 Unc 2b threaded through

4.35”
(111mm)

7.74”
(197mm)

8.9”
(226mm)

M8 x 1.25 - 6h thread .75” (19mm) Deep

Use M8 x 1.25 bolts
connects to european traveler Flange   

111mm  130mm 193mm 

Use 3/8-16 bolts & nuts
connects to 4” nelson Flange bolt Pattern
(F200 has same bolt pattern as sr150.)

3/8-16 Unc thread .75” (19mm) Deep

4.35”
(111mm)

5.75”
(146mm)

7.6”
(193mm)

1/2-13 Unc 2b threaded through

Use 1/2-13 bolts  
connects to 2” Ansi or 50mm Din Flanges

2.32”
(59mm)

4.62”
(117mm)

5.72”
(145mm)

9.1mm hole Drilled through

Use M8 bolts & nuts
connects to european traveler Flange

56mm 130mm 150mm

Use 5/16-18 bolts
connects to 2” nelson Flange bolt Pattern  

5/16-18 Unc 2b threaded through

2.3”
(59mm)

4.0”
(102mm)

4.6”
(117mm)

Use 1/2-13 bolts 
connects to 3” Ansi or 80mm Din Flanges

1/2-13 Unc 2b threaded through

3.2”
(81mm)

5.88”
(149mm)

6.9”
(175mm)

M8 x 1.25 - 6h threaded through

Use M8 x 1.25 bolts  
connects to european traveler Flange

81mm 130mm 165mm 

Use 3/8-16 bolts & nuts or M10 bolts & nuts
connects to 3” nelson Flange bolt Pattern

.406” (10.3mm) hole Drilled through

3.2”
(81mm)

5.75”
(146mm)

6.5”
(165mm)

Use 1/2-13 bolts 
connects to 4” Ansi or 100mm Din Flanges

1/2-13 Unc 2b threaded through

4.35”
(111mm)

7.74”
(197mm)

8.9”
(226mm)

M8 x 1.25 - 6h thread .75” (19mm) Deep

Use M8 x 1.25 bolts
connects to european traveler Flange   

111mm  130mm 193mm 

Use 3/8-16 bolts & nuts
connects to 4” nelson Flange bolt Pattern
(F200 has same bolt pattern as sr150.)

3/8-16 Unc thread .75” (19mm) Deep

4.35”
(111mm)

5.75”
(146mm)

7.6”
(193mm)

euro
FLaNGe

1/2-13 Unc 2b threaded through

Use 1/2-13 bolts  
connects to 2” Ansi or 50mm Din Flanges

2.32”
(59mm)

4.62”
(117mm)

5.72”
(145mm)

9.1mm hole Drilled through

Use M8 bolts & nuts
connects to european traveler Flange

56mm 130mm 150mm

Use 5/16-18 bolts
connects to 2” nelson Flange bolt Pattern  

5/16-18 Unc 2b threaded through

2.3”
(59mm)

4.0”
(102mm)

4.6”
(117mm)

Use 1/2-13 bolts 
connects to 3” Ansi or 80mm Din Flanges

1/2-13 Unc 2b threaded through

3.2”
(81mm)

5.88”
(149mm)

6.9”
(175mm)

M8 x 1.25 - 6h threaded through

Use M8 x 1.25 bolts  
connects to european traveler Flange

81mm 130mm 165mm 

Use 3/8-16 bolts & nuts or M10 bolts & nuts
connects to 3” nelson Flange bolt Pattern

.406” (10.3mm) hole Drilled through

3.2”
(81mm)

5.75”
(146mm)

6.5”
(165mm)

Use 1/2-13 bolts 
connects to 4” Ansi or 100mm Din Flanges

1/2-13 Unc 2b threaded through

4.35”
(111mm)

7.74”
(197mm)

8.9”
(226mm)

M8 x 1.25 - 6h thread .75” (19mm) Deep

Use M8 x 1.25 bolts
connects to european traveler Flange   

111mm  130mm 193mm 

Use 3/8-16 bolts & nuts
connects to 4” nelson Flange bolt Pattern
(F200 has same bolt pattern as sr150.)

3/8-16 Unc thread .75” (19mm) Deep

4.35”
(111mm)

5.75”
(146mm)

7.6”
(193mm)

1/2-13 Unc 2b threaded through

Use 1/2-13 bolts  
connects to 2” Ansi or 50mm Din Flanges

2.32”
(59mm)

4.62”
(117mm)

5.72”
(145mm)

9.1mm hole Drilled through

Use M8 bolts & nuts
connects to european traveler Flange

56mm 130mm 150mm

Use 5/16-18 bolts
connects to 2” nelson Flange bolt Pattern  

5/16-18 Unc 2b threaded through

2.3”
(59mm)

4.0”
(102mm)

4.6”
(117mm)

Use 1/2-13 bolts 
connects to 3” Ansi or 80mm Din Flanges

1/2-13 Unc 2b threaded through

3.2”
(81mm)

5.88”
(149mm)

6.9”
(175mm)

M8 x 1.25 - 6h threaded through

Use M8 x 1.25 bolts  
connects to european traveler Flange

81mm 130mm 165mm 

Use 3/8-16 bolts & nuts or M10 bolts & nuts
connects to 3” nelson Flange bolt Pattern

.406” (10.3mm) hole Drilled through

3.2”
(81mm)

5.75”
(146mm)

6.5”
(165mm)

Use 1/2-13 bolts 
connects to 4” Ansi or 100mm Din Flanges

1/2-13 Unc 2b threaded through

4.35”
(111mm)

7.74”
(197mm)

8.9”
(226mm)

M8 x 1.25 - 6h thread .75” (19mm) Deep

Use M8 x 1.25 bolts
connects to european traveler Flange   

111mm  130mm 193mm 

Use 3/8-16 bolts & nuts
connects to 4” nelson Flange bolt Pattern
(F200 has same bolt pattern as sr150.)

3/8-16 Unc thread .75” (19mm) Deep

4.35”
(111mm)

5.75”
(146mm)

7.6”
(193mm)

1/2-13 Unc 2b threaded through

Use 1/2-13 bolts  
connects to 2” Ansi or 50mm Din Flanges

2.32”
(59mm)

4.62”
(117mm)

5.72”
(145mm)

9.1mm hole Drilled through

Use M8 bolts & nuts
connects to european traveler Flange

56mm 130mm 150mm

Use 5/16-18 bolts
connects to 2” nelson Flange bolt Pattern  

5/16-18 Unc 2b threaded through

2.3”
(59mm)

4.0”
(102mm)

4.6”
(117mm)

Use 1/2-13 bolts 
connects to 3” Ansi or 80mm Din Flanges

1/2-13 Unc 2b threaded through

3.2”
(81mm)

5.88”
(149mm)

6.9”
(175mm)

M8 x 1.25 - 6h threaded through

Use M8 x 1.25 bolts  
connects to european traveler Flange

81mm 130mm 165mm 

Use 3/8-16 bolts & nuts or M10 bolts & nuts
connects to 3” nelson Flange bolt Pattern

.406” (10.3mm) hole Drilled through

3.2”
(81mm)

5.75”
(146mm)

6.5”
(165mm)

Use 1/2-13 bolts 
connects to 4” Ansi or 100mm Din Flanges

1/2-13 Unc 2b threaded through

4.35”
(111mm)

7.74”
(197mm)

8.9”
(226mm)

M8 x 1.25 - 6h thread .75” (19mm) Deep

Use M8 x 1.25 bolts
connects to european traveler Flange   

111mm  130mm 193mm 

Use 3/8-16 bolts & nuts
connects to 4” nelson Flange bolt Pattern
(F200 has same bolt pattern as sr150.)

3/8-16 Unc thread .75” (19mm) Deep

4.35”
(111mm)

5.75”
(146mm)

7.6”
(193mm)

contact Factory for industrial/effluent configurations which may be applicable when the water contains higher levels of suspended solids and/or chemicals that can be abrasive or binding in nature.

1/2-13 Unc 2b threaded through

Use 1/2-13 bolts  
connects to 2” Ansi or 50mm Din Flanges

2.32”
(59mm)

4.62”
(117mm)

5.72”
(145mm)

9.1mm hole Drilled through

Use M8 bolts & nuts
connects to european traveler Flange

56mm 130mm 150mm

Use 5/16-18 bolts
connects to 2” nelson Flange bolt Pattern  

5/16-18 Unc 2b threaded through

2.3”
(59mm)

4.0”
(102mm)

4.6”
(117mm)

Use 1/2-13 bolts 
connects to 3” Ansi or 80mm Din Flanges

1/2-13 Unc 2b threaded through

3.2”
(81mm)

5.88”
(149mm)

6.9”
(175mm)

M8 x 1.25 - 6h threaded through

Use M8 x 1.25 bolts  
connects to european traveler Flange

81mm 130mm 165mm 

Use 3/8-16 bolts & nuts or M10 bolts & nuts
connects to 3” nelson Flange bolt Pattern

.406” (10.3mm) hole Drilled through

3.2”
(81mm)

5.75”
(146mm)

6.5”
(165mm)

Use 1/2-13 bolts 
connects to 4” Ansi or 100mm Din Flanges

1/2-13 Unc 2b threaded through

4.35”
(111mm)

7.74”
(197mm)

8.9”
(226mm)

M8 x 1.25 - 6h thread .75” (19mm) Deep

Use M8 x 1.25 bolts
connects to european traveler Flange   

111mm  130mm 193mm 

Use 3/8-16 bolts & nuts
connects to 4” nelson Flange bolt Pattern
(F200 has same bolt pattern as sr150.)

3/8-16 Unc thread .75” (19mm) Deep

4.35”
(111mm)

5.75”
(146mm)

7.6”
(193mm)

®

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com

47



January 1, 2017

48

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

bIg guN® SPRINKLERS / 7 5  &  1 0 0  S E R I E S 

75 SERIES BIG GUN® SPRINKLERS
ModeL No. f75 SR75 SR75 (43º) qc-SR75 qc-f75

Full Circle hd  
(21º, 24º) 

part Circle hd —  
slow reverse  
(18º, 21º, 24º) 

environmental Ctrl —  
dust suppression  
big Gun® sprinkler

Quick Coupling  
sr75 with  

Integral QC key

Quick Coupling  
F75 with  

Integral QC key

box 32x9x12” 32x9x15” 32x9x19” 32x9x16”

Lbs/box  18 22  32 30

100 SERIES BIG GUN® SPRINKLERS
ModeL No. f100* f100 (43º)* SR100* SR100 (43º)* SRa100* SRNV100E SRNV100h qc-SR100 qc-f100

Full circle (18º, 
21º, 24º)

Environmental 
control — dust 
Suppression big 
Gun® Sprinkler

Part circle — 
Slow Reverse 
(18º, 21º, 24º)

Environmental 
control — dust 
Suppression big 
Gun® Sprinkler

Part circle — 
Slow Reverse, 

adjustable Traj.

SR100 Nozzle 
Valve w/Solenoid 
(110V or 24V) (18°)

SR100 Nozzle 
Valve without 

Solenoid

quick coupling 
SR100 with 

Integral qc key

quick coupling 
F100 with 

Integral qc key

box 32x9x12”  32x9x15”  32x9x15” 32x9x15” 32x9x15” 32x9x19” 32x9x16”

Lbs/box 20  26  24 36 35 36 34

*contact Factory for availability of anodized and anodized & powder coated options. 
contact Factory for special “vaneless” waste-water options.

desCrIptIoN
Ring

Nozzle (100)
Taper bore

Nozzle (100)
Taper/Ring

Nozzle (75 & 100) qc100 Valve qc100 Valve Key  2” fNPT flange
part No. 6749 9309-xxx 9257-xxx  See above. See above. 10356

designed to give the greatest 
stream diffusion. comes in 
a set of rings which cover 

the whole flow range.

Offers greatest flow  
capacity and least stream 

diffusion resulting in best air 
penetration and longest throw. 

Useful when flow rate 
may need to change and 
a good throw distance is 

demanded. Sold individually.

quick connect makes 
portable big Gun® irrigation 
fast and easy. For 75 and 

100 Series big Guns. 

qc Valve key, Specify 2” FNPT 
or Nelson Flanged Outlet. For 
75 and 100 Series big Guns. 

Lower Flange for Valve/
Gun combo. See page 58.

75 SERIES NOzzLES & accESSORIES
ModeL No. desCrIptIoN box 

TR75 Individual Taper Ring Nozzle (Specify Size)

10207 Nozzle cap Only (Nozzle cap is included on 75 Series big Gun)

10356 2” FNPT Flange 

11095 F75/F100 Wedge kit — 12°

11098 SR75/SR100 Wedge kit — 12°

3RN Secondary Nozzle for F75/SR75 (Specify Size)

qc100 Valve
qc Valve assy. (2" FNPT = 8654; 3" FNPT = 8799-000;  
2" FbSP = 8934; 3" FbSP = 8799-001)

12x12x8”

qc100 Valve Key
qc Valve key (2" FNPT = 8655-001; 2" FbSP = 8655-002;  
2" Nelson Flange = 8657-001)

12x12x8”

75 & 100 SERIES accESSORIES

48



January 1, 2017

49

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

7 5  &  1 0 0  S E R I E S  / bIg guN® SPRINKLERS 

desCrIptIoN Wedge Kit
Secondary Nozzle Kit 

(SR100/SR150)
SR100 Low Pressure Drive 

Vane
counter-

balance Kit
Stream  

Straightener Vane
heavy-Duty
bearing assy

part No. 11095 11098 9724 9857  8386 6671  See page 52.

F75/F100 
Wedge 
kit —12°

SR75/SR100 
Wedge 
kit —12°

used to apply water in-close. 
Not desirable when used  
on travelers, but may be  

desirable in solid set. 5/16"  
& 7/32" 3rN nozzle included. 

Increases drive at 
low pressures. 

Helps balance the big Gun 
on severely sloping terrain. 
allows for even rotation and 
minimizes brake variations.

6” long, fits inside 2” Sch. 40 
pipe and helps reduce stream 

turbulence and increases 
throw radius of sprinkler.

Heavy-duty bearing standard 
on all big Gun sprinklers.

ModeL No. desCrIptIoN Lbs/box box 

100T Taper bore Nozzle (Specify Size) 1/2

100R Ring Nozzle Set (6749) — cap, body & 7 Rings 1

    7872 Ring Nozzle cap Only (Use only with 100R) 1/2

    9956-001 Ring or Taper Ring Nozzle body Only (Use w/100R, 100TR) 1

    6847 Set of 7 Rings Only 1/2

    R100 Individual Ring Only (Specify Size) 1/2

100TR Taper Ring Nozzle Set — cap, body, Taper Ring (Specify Size) 1

    6745 Taper Ring Nozzle cap Only (Use only with 100TR) 1/2

    9956-001 Ring or Taper Ring Nozzle body Only, (Use w/100R, 100TR) 1

    TR100 Individual Taper Ring Only (Specify Size) 1/2

12700 New! Plastic 100 Taper Ring cap & body assembly 

12469 New! Plastic 100 Taper Ring cap

12782 New! Plastic 100 Taper Ring body

12470-xxx New! Plastic 100 Taper Ring Nozzles (12.7 mm-24 mm)

3RN Secondary Nozzle for F100 (Specify Size)

9724 Secondary Nozzle kit for SR100/SR150 (5/16" & 7/32" 3RN Nozzles Included)

qc100 Valve
qc Valve assy. (2" FNPT = 8654; 3" FNPT = 8799-000; 
2" FbSP = 8394; 3" FbSP = 8799-001)

11 12x12x8”

qc100 Valve Key
qc Valve key (2" FNPT = 8655-001; 2" FbSP = 8655-002;  
2" Nelson Flange = 8657-001)

11 12x12x8”

9857 SR100 LPV kit (Low Pressure drive Vane) 2

10356 2” FNPT Flange 

100cbK counterbalance kit  — SR Models Only 19

600V Vane Stream Straightener Vane (6671) — 6” Long, Fits Inside 2” Sch. 40 Pipe

11095 F75/F100 Wedge kit — 12°

11098 SR75/SR100 Wedge kit — 12°

75 SERIES NOzzLES & accESSORIES
ModeL No. desCrIptIoN box 

TR75 Individual Taper Ring Nozzle (Specify Size)

10207 Nozzle cap Only (Nozzle cap is included on 75 Series big Gun)

10356 2” FNPT Flange 

11095 F75/F100 Wedge kit — 12°

11098 SR75/SR100 Wedge kit — 12°

3RN Secondary Nozzle for F75/SR75 (Specify Size)

qc100 Valve
qc Valve assy. (2" FNPT = 8654; 3" FNPT = 8799-000;  
2" FbSP = 8934; 3" FbSP = 8799-001)

12x12x8”

qc100 Valve Key
qc Valve key (2" FNPT = 8655-001; 2" FbSP = 8655-002;  
2" Nelson Flange = 8657-001)

12x12x8”

SPEcIaL cOaTINg OPTIONS
CoNtaCt FaCtorY For avaILabILItY oF aNodIzed  

aNd aNodIzed & powder Coated optIoNs. 

100 SERIES NOzzLES & accESSORIES

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

50

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

150 SERIES BIG GUN® SPRINKLERS
ModeL No. f150* SR150* SR150 (43)* SRa150** f150SS SR150SS

Full Circle hd  
Flanged Conn.

(21º, 24º) 

part Circle hd  
slow reverse  
Flanged Conn. 

(18º, 21º, 24º) 

environmental  
Control — dust suppression  

big Gun® sprinkler

part Circle — slow reverse, 
Flanged Connection,  

adj. traj. (15-45º)

Full Circle — Flanged Conn., 
stainless steel  

(includes nozzle) 

part Circle — slow reverse, 
Flanged Conn., stainless  
steel (includes nozzle)

box 43x10x15” 43x10x15” 43x10x15” 43x10x15” 43x10x15” 43x10x15”

Lbs/box  36 42  44  

*contact Factory for availability of anodized and anodized & powder coated options. **Limited availability. Please contact the Nelson factory before ordering.  
contact Factory for special “vaneless” waste-water options. 

desCrIptIoN
Ring Nozzle  
(150 & 200)

Taper bore
Nozzle (150 & 200)

Taper/Ring
Nozzle (150)

New! Plastic Taper/Ring
Nozzle (150)

Secondary Nozzle Kit 
(SR100/SR150)

qc150  
Valve & Key 

designed to give the  
greatest stream diffusion. 

Comes in a set of rings 
which cover the whole  

flow range.

offers greatest flow 
capacity and least stream 

diffusion resulting in  
best air penetration and 

longest throw.  

useful when flow rate  
may need to change  

and a good throw  
distance is demanded.  

sold individually. 

New! plastic tr also  
available for 100 series. 

order Cap, body or Cap & 
body + Nozzle(s)

9724 — used to apply water 
in-close. Not desirable when 
used on travelers, but may be 
desirable in solid set. 5/16" & 
7/32" 3rN nozzle included. 

Quick connect makes 
portable big Gun® irrigation 

fast and easy. QC150 key fits 
Nelson Flanged outlet. 

accESSORIES QC valve
key

*See 150/200 Flange adapter to Female adapter page 51. 3” FNPT (#8403-001); 3.5” FNPT (#6621-000);  
3" bSP (#6621-001); 4" (#9127). contact Factory for availability of anodized & power coated options. 

150T Taper bore Nozzle (Specify Size) 1

150R Ring Nozzle Set (6790) — cap, body & 7 Rings 2

    9773 Ring/Taper Ring Nozzle body Only 2

    6286 Ring/Taper Ring Nozzle cap Only 1

    9418 Ring/Taper Ring body & cap assembly

    6846 Set of 7 Rings Only 1/2

    R150 Individual Ring Only (Specify Size) 1/2

150TR Taper Ring Nozzle Set — cap, body,Taper Ring (Specify Size) 2

    TR150 Individual Taper Ring Only (Specify Size) 1/2

    9773 Ring/Taper Ring Nozzle body Only 2

    6286 Ring/Taper Ring Nozzle cap Only 1

    9418 Ring/Taper Ring body & cap assembly

12701 New! Plastic 150 Taper Ring cap & body assembly 

12467 New! Plastic 150 Taper Ring cap

12781 New! Plastic 150 Taper Ring body

12468-0xx New! Plastic 150 Taper Ring Nozzles (21 mm-34 mm)

7RN Secondary Nozzle for F150 (Specify Size)

9724 Secondary Nozzle kit for SR100/SR150 (5/16" & 7/32" 3RN Nozzles Included)

qc150 Valve New! qc Valve assy. (3” FNPT = 11691-001; 3" FbSP = 11691-002)

qc150 Valve Key New! qc Valve key, (3” Nelson Flange = 11692)

150/200fI Nelson Flange to Female adapter, cast Iron (3" or 3.5", Specify Thread)* 6

150/200fI Nelson Flange to Female adapter, cast Iron (4”)* 6
150cbK counterbalance kit 30

6843 Stream Straightener Vane — 9” Long, Fits Inside 3” Sch. 40 Pipe

11358 F150 Wedge kit — 12°

11359 SR150 Wedge kit — 12°

150 SERIES NOzzLES & accESSORIES
ModeL No. desCrIptIoN Lbs/box  

50



January 1, 2017

51

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

200 SERIES  
BIG GUN®  
SPRINKLERS

ModeL No. f200* SR200*

Full circle,
 Nelson Flange 
(21º, 24º, 27º)

Part circle — Slow 
Reverse, Hd 

bearing, Flanged 
connection

box 55x13x18” 55x13x18” 

Lbs/box 48  70

*contact Factory for availability of anodized 
and anodized & powder coated options. 
coating options not available for F200. 

200 SERIES NOzzLES & accESSORIES
ModeL No. desCrIptIoN Lbs/box

200T taper bore Nozzle (specify size) 2
200R ring Nozzle set (6789) — Cap, body & 7 rings 3
    9972-001 ring Nozzle body only 2
    6026 ring Nozzle Cap only 1
    6845 set of 7 rings only 1/2
    R200 Individual ring only (specify size) 1/2
7RN secondary Nozzle for F200/sr200 (specify size)
150/200fI Nelson Flange to Female adapter, cast Iron (3" or 3.5", Specify Thread)* 6

150/200fI Nelson Flange to Female adapter, Cast Iron (4”)* 6
200cbK Counterbalance kit
9425 Manure kit/Large Nozzle kit (for manure and/or nozzles 1.75+)
10565 aNsI x Nelson Flange adapter (F200 only)
12807 aNsI x Nelson Flange adapter kit (F200 only) - see below
6843 Stream Straightener Vane — 9” Long, Fits Inside 3” Sch. 40 Pipe

11138 sr200 wedge kit — 12°

*See 150/200 Flange adapter to Female adapter below. 3” FNPT (#8403-001); 3.5” FNPT (#6621-000); 3" bSP 
(#6621-001); 4" (#9127). contact Factory for availability of anodized & power coated options.

desCrIptIoN
150/200 Nelson Flange to  

Female adapter stream straightener vane wedge kit Manure kit aNsI x Nelson Flange  
adapter kit (F200 only)

counter balance Kit  
(150 & 200)

part No. See above.  6843
f150
11358

SR150
11359

SR200
11138

9425 12807   

Nelson Flange to Female 
adapter joined with 

bolts (bolts and gasket 
come with big Gun)

9” long, fits inside 3” Sch. 40 
pipe and helps reduce stream 

turbulence and increases 
throw radius of sprinkler.

Increases rotation speed 
when larger nozzles used. 
Useful when pumping slur-

ries with dense matter.

kit includes 10565 aNSI x 
Nelson Flange adapter, 9130 
Gasket and (6) 12105 Screws

helps balance the big Gun 
on severely sloping terrain. 
allows for even rotation and 
minimizes brake variations. 

Increases the angle of 
trajectory. 

150T Taper bore Nozzle (Specify Size) 1

150R Ring Nozzle Set (6790) — cap, body & 7 Rings 2

    9773 Ring/Taper Ring Nozzle body Only 2

    6286 Ring/Taper Ring Nozzle cap Only 1

    9418 Ring/Taper Ring body & cap assembly

    6846 Set of 7 Rings Only 1/2

    R150 Individual Ring Only (Specify Size) 1/2

150TR Taper Ring Nozzle Set — cap, body,Taper Ring (Specify Size) 2

    TR150 Individual Taper Ring Only (Specify Size) 1/2

    9773 Ring/Taper Ring Nozzle body Only 2

    6286 Ring/Taper Ring Nozzle cap Only 1

    9418 Ring/Taper Ring body & cap assembly

12701 New! Plastic 150 Taper Ring cap & body assembly 

12467 New! Plastic 150 Taper Ring cap

12781 New! Plastic 150 Taper Ring body

12468-0xx New! Plastic 150 Taper Ring Nozzles (21 mm-34 mm)

7RN Secondary Nozzle for F150 (Specify Size)

9724 Secondary Nozzle kit for SR100/SR150 (5/16" & 7/32" 3RN Nozzles Included)

qc150 Valve New! qc Valve assy. (3” FNPT = 11691-001; 3" FbSP = 11691-002)

qc150 Valve Key New! qc Valve key, (3” Nelson Flange = 11692)

150/200fI Nelson Flange to Female adapter, cast Iron (3" or 3.5", Specify Thread)* 6

150/200fI Nelson Flange to Female adapter, cast Iron (4”)* 6
150cbK counterbalance kit 30

6843 Stream Straightener Vane — 9” Long, Fits Inside 3” Sch. 40 Pipe

11358 F150 Wedge kit — 12°

11359 SR150 Wedge kit — 12°

®

2 0 0  S E R I E S  / bIg guN® SPRINKLERS 

51



January 1, 2017

52

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

®

bIg guN® SPRINKLERS  & R75m / b E a R I N g  a S S E m b L I E S ,  R E P a I R  K I T S ,  m I S c .

®

52

bIg guN® SERVIcE KITS (SEE PagE 53)
part NuMber desCrIptIoN

11090 sr75 drive arm service kit 

12011 hd100 service kit

12573 complete Sr100 Service kit - Includes: 9822, 12011, 
12804, 12805 plus 8231 sr100 drive vane and Labels

12804 sr100/sr150 trip Lever service kit

12805 sr100/sr150 shift Lever service kit

9822 sr100/sr150 drive arm & Counterweight service kit

12736 complete Sr150 Service kit - Includes: 9822, 12737, 
12804, 12805, plus 8354 sr150 drive vane & Labels 

12737 hd150 service kit

R75m DEbRIS SWEEPER  
fOR mININg & DaIRy aPPLIcaTIONS 
part NuMber desCrIptIoN

12699-001 Inverted r75M with 1 1/4" MNpt

bEaRINg aSSEmbLIES (See MNPPL for pricing.)

ModeL No. part NuMber desCrIptIoN

F75/F100 7862  Nelson Flange F100 

F75/F100 7863  2" FNpt F100 

F75/F100 7864  2.5" FNpt F100 

F75/F100 7865  2" Fbsp F100 

F75/F100 10380-007  1.5" FNpt F75hd 

F75/F100 10380-010  1.5" Fbsp F75hd 

F100 7863-001  2" FNpt F100 aNodIzed 

F100 9814-003  aNsI/dIN/euro Flange F100 

sr75/sr100 7273  2" FNpt sr100 

sr75/sr100 7277  2.5" FNpt sr100 

sr75/sr100 7292  2" Fbsp sr100 

sr75/sr100 7753  Nelson Flange sr100 

sr75/sr100 9814  aNsI/dIN/euro Flange sr100 

sr75/sr100 10380-001  1.5" FNpt sr75hd 

sr75/sr100 10380-004  1.5" Fbsp sr75hd 

srNv100 7950  2" FNpt srNv100 

srNv100 7952  2" Fbsp srNv100 

F150/sra150/sr150 8458  Nelson/euro Flange hd150 

F150/sra150/sr150 10323-001  3" aNsI/dIN Flange hd150 

sr200 9114-000  Nelson Flange sr200 

sr200 9114-001  euro Flange sr200 

sr200 9114-003  4" aNsI Flange sr200 



January 1, 2017

53

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

 
ModeL No. P65m P85aS P85a P85

1” Male Part circle 
with anti back-splash 

arm and diffuser 
pin (includes 7V) 

1 1/4” Male Part circle 
with single nozzle 
18° (includes 8V)

1 1/4” Male Part 
circle with double 

nozzle 18° (includes 
8V and 2 plugs)

1 1/4” Male Part circle 
with double nozzle 24° 
(includes 8V, no plugs 
- specify if needed)

box 12x12x10" 12x12x4" 12x12x4"

Lbs/box 14 8 8

QtY/box 4 1 1

 

P 6 5  &  P 8 5  / ImPacT SPRINKLERS 

iMpAct
SprinkLerS

 
ModeL No. desCrIptIoN

8aDN adjustable diffuser (including Nozzle) 
8DN diffuser assembly (not including Nozzle) 
Sh-125 1 1/4” MNpt x 1 1/2” MNpt swivel hose 
7RN drive Nozzle F70a, F70, & p65M, secondary for 150 &  200 series big Gun 
8DRN drive Nozzle F80a, F80, p85a, p85as, and p85

7V Vane stream straightener vane for F70 and F70a series, p65 series
8V Vane stream straightener vane for all 80 and 85 series
3fcN Flow Control Nozzle 3/4” sprinklers
8DRN drive Nozzle F80a, F80, p85a, p85as, and p85
3RN Plug brass secondary Nozzle plug for F70a, F80a, 100 series Gun, p85 and F44aab

53

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com

bIg guN® SERVIcE KITS (SEE PagE 53)
part NuMber desCrIptIoN

11090 sr75 drive arm service kit 

12011 hd100 service kit

12573 complete Sr100 Service kit - Includes: 9822, 12011, 
12804, 12805 plus 8231 sr100 drive vane and Labels

12804 sr100/sr150 trip Lever service kit

12805 sr100/sr150 shift Lever service kit

9822 sr100/sr150 drive arm & Counterweight service kit

12736 complete Sr150 Service kit - Includes: 9822, 12737, 
12804, 12805, plus 8354 sr150 drive vane & Labels 

12737 hd150 service kit

R75m DEbRIS SWEEPER  
fOR mININg & DaIRy aPPLIcaTIONS 
part NuMber desCrIptIoN

12699-001 Inverted r75M with 1 1/4" MNpt

12737

12805

12804

12736

9822



January 1, 2017

54

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

mANUAL ON-OFF
aLL 800 SERIES VaLVES (ExcEPT 800P) 
aRE EquIPPED WITh a 3-Way maNuaL 
ON-Off SELEcTOR VaLVE.

ELECTRIC ON-OFF
aDD a SOLENOID fOR ELEcTRIc  
ON-Off caPabILITy.

see paGe 58 For GuN/vaLve CoMbo / MouNt aN aNsI FLaNGed bIG GuN® dIreCtLY oNto aN 800 serIes CoNtroL vaLve For eNd oF pIvot or soLId set appLICatIoNs. 

INTERNaL caGE

opeN — water pressure Is reLIeved 
FroM the sLeeve ChaMber, aLLowING 
the vaLve to opeN.

CLosed — upstreaM water Is 
appLIed to the outer sLeeve ChaMber, 
the sLeeve beCoMes hYdrauLICaLLY 
baLaNCed aNd the FLow passaGe Is 
CLosed oFF bY the sLeeve pressING 
aGaINst the CeNter seat.

controL you cAn 
count on SeASon 
After SeASon

cONTROL VaLVES / 8 0 0  S E R I E S 

54



January 1, 2017

55

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

AS A hydrAuLicALLy operAted 
SLeeVe-type VALVe, the 800 
SerieS controL VALVe iS 
deSiGned for VerSAtiLity. the 
BASic Body cAn Be eQuipped 
With SeVerAL different 
optionS for controLLinG 
preSSure And fLoW. it’S ALSo 
enGineered for extreMeLy 
hiGh efficiency, reSuLtinG in 
LoW preSSure LoSS And hiGh 
fLoW cApAcity. 

PRESSURE CONTROL
ThE PRESSuRE cONTROL REguLaTOR (“REDucINg” 
fOR DOWNSTREam, “SuSTaININg” fOR uPSTREam) 
DIREcTS WaTER fLOW WhIch POSITIONS ThE 
SLEEVE DuRINg OPERaTION. 

RATE-OF-FLOW
aDD ThE RaTE-Of-fLOW (mODEL D18) 
cONTROL TO REguLaTE ThE fLOW 
RaTE DuRINg SySTEm STaRT-uP.

800 SerieS controL VALVeS preSSure LoSS dAtA
(vaLve FuLLY opeN)

30

8

.10

0.01

0.02

0.03

0.05

0.07
0.10

0.15

0.20

0.30

0.40

0.50

0.70
1.0

.20

.30

.40
.50

.70

1.0

2.0

3.0

4.0
5.0
6.0
7.0

10.0

20.0

10 20 30 40 50 60 80 100 200 300 400 500 600 800

40 50 60 90 100 150 200 300 400 500 600 800 1000 1500 2000 3000 4000 6000

FLOW RATE

PR
ES

SU
RE

 L
OS

S

m3/hr
GPM

PSI bar

2” 
(5

0 m
m) v

alv
e

3” 
(30

 m
m) v

alv
e

4” 
(10

0 m
m) v

alv
e

6”
 (15

0 m
m) v

alv
e

8”
 (2

00
 m

m) v
alv

e

caGE 

PLaSTIc cENTER baRRIERVaLVE HOUSING (GaLVaNIZEd  
STEEL FOR 6” & 8” aNd aNOdIZEd 
aLUMINUM FOR 2”, 3”, & 4”)

STaINLESS STEEL 
cENTER STUd

SLEEVE (SPEcIaL 
NaTURaL RUbbER)

8 0 0  S E R I E S  / cONTROL VaLVES

55

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

56

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

to order: specify 800 series Control valve and select From each Letter option. any item in section d, e & h can be ordered separately as a kit. specify the option 
letter and number (example “e23”  for a 9/12v, 3/64” solenoid kit).  

800 SerieS - 2" & 3" VALVeS
BASe VALVe  AcceSSorieS

A B c d e h
VALVe  

MAteriAL/Size  
connection StyLe 

& hArdWAre 
operAtinG 
preSSure

preSSure/fLoW  
controL

on/off
Mode fiLter

ALuMinuM

A2”
  
 

A3”
 

WAfer StyLe
B9 
(No studs)
Includes Manual  
selector & Mounting 
bracket kits

B10   

(4 studs, 8 nuts) 
Includes Manual 
selector & Mounting 
bracket kits

c1    
10-50 pSi 

 

c2   

30-200 pSi 

 

c3   

18-80 pSi   

none
d01   

reducinG
5-30 pSi

d11  (brass)   

d21  (plastic 2”)   

d31  (plastic 3”)   

5-60 pSi
d12  (brass)   

d22  (plastic 2”)   

d32  (plastic 3”)   
 

10-120 pSi
d13  (brass)   

d23  (plastic 2”)   

d33  (plastic 3”)   

SuStAininG
5-60 pSi

d15 (brass)   

d25 (plastic 2”)   

d35 (plastic 3”)   

10-120 pSi
d16  (brass)   

d26 (plastic 2”)   

d36 (plastic 3”)   

 rAte-of-fLoW
d18   
specify flow rate  
& pipe size 

SLeeVe exhAuSt
d06 30 psi   

d06-1 10 psi

ShuttLe check
d07   
(Must also order 
solenoid or pressure 
control)

MAnuAL
e01  (No solenoid)   

eLectric SoLenoid 
dc  
(voltage, orifice diam.)

e21  (12v, 1/16”)   

e34  (24v, 3/64”)   

dc LAtchinG
e23  (9/12v, 3/64”)   

e29  (12-40 v, 5/64”)    

Ac  
(voltage, orifice diam.)

e43  (24v, 3/64”)   

e46  (24v, 1/16”)   

e50  (120v, 1/16”)  

e53  (110v, 1/16”)   

h2   
external 

h3*   
Internal 
for 2” 
& 3”

  

cASt iron

A2” 
 

A3”
  

threAded
B3   
(specify Npt or bsp) 
Includes Manual  
selector & Mounting 
bracket kits

VictAuLic
B6    
Includes Manual  
selector & Mounting 
bracket kits

56



January 1, 2017

57

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

saMpLe order: a6” b5 C2 d03 e40 h3. this configuration represents  a 6” valve with wafer style connection (studs & nuts included),  30 to 
200 psI pressure rating, pressure reducing (10 - 120 psI) control package with a 24vaC 1/16” solenoid, and an internal filter. 

8 0 0  S E R I E S  / cONTROL VaLVES4", 6" & 8" VALVeS

BASe VALVe  AcceSSorieS
A B c d e h

VALVe  
MAteriAL/Size  

connection StyLe & 
hArdWAre 

operAtinG 
preSSure

preSSure/fLoW  
controL

on/off
Mode fiLter

ALuMinuM

A4”
   
 
 

WAfer StyLe
B9  (No studs)  
Includes Manual  
selector & Mounting  
bracket kits

B10  (8 studs, 16 nuts)  
Includes Manual  selector & 
Mounting bracket kits

B23  (No studs)  
4 x 6” Flange adapters —  
Includes Manual selector & 
Mounting bracket kits

B24  (8 studs, 16 nuts)  
4 x 6” Flange adapters w/ stud 
kit — Includes Manual selector 
& Mounting bracket kits

c1    
10-50 pSi 

 

c2    

30-200 pSi 

 

c3   

18-80 pSi   

none
d01   

reducinG
large body pilot

d02  (5-50 psi)   

d03  (10-120 psi)   

d04  (25-200 psi)   

SuStAininG
large body pilot

d05  (25-200 psi)   

d08  (10-120 psi)   

d09  (5-50 psi)   
 

rAte-of-fLoW
d18      
specify flow rate & pipe size 

SLeeVe exhAuSt
d06 30 psi   

d06-1 10 psi

ShuttLe check
d07  (brass)   
(Must also order solenoid or 
sustaining control)  

MAnuAL
e01  (No solenoid)   

eLectric SoLenoid dc  
(voltage, orifice diam.)

e21  (12v, 1/16”)   

e30  (24v, 1/16”)   

dc LAtchinG
e29  (12-40 v, 5/64”)   

Ac  
(voltage, orifice diam.)

e40  (24v, 1/16”, 0.15a)   

e41  (24v, 1/16”, 1.1a)   

e46 (24v, 1/16”, 0.8a)   

e50  (120v, 1/16”)  

e52  (120v, 1/8”)  
(6 & 8" only)

h2   
external 

h3  
Internal 
for 4", 
6", 8"

  

cASt iron

A4” 
 

A6”
  

A8”
  

WAfer StyLe
B4   
(No studs) Includes Manual se-
lector & Mounting bracket kits

B5  (8 studs, 16 nuts) 

4” valve  
6” valve                       
8” valve                   
Includes Manual selector & 
Mounting bracket kits

B21  (No studs) 
4 x 6”                        
6 x 8”                       
Flange adapters —  
Includes Manual selector & 
Mounting bracket kits

B22 (8 studs, 16 nuts) 
4 x 6”                       
6 x 8”                       
Flange adapters w/ stud kit 
— Includes Manual selector & 
Mounting bracket kits

57

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

58

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

BiG Gun® VALVe coMBoS

3-way manual on/off 
selector kit (8980)

Mounting bracket kit 
(2” - 9189)

(+3” - 8924)
rubber drain/plug ball drain/vent

(10753)

For B11/B12 
2" pIvot eNd 

GuN CoNtroL 
vaLve

— —
(1) 9800 uPSTREam

(1) 9800-100  
DOWNSTREam

INcLuDED W/
baSE VaLVE

For B17/B18 
soLId set bIG 

GuN vaLve

INcLuDED W/
baSE VaLVE

INcLuDED W/
baSE VaLVE

(1) 9800-100
DOWNSTREam —

800p - 2” pIvot eNd GuN  
CoNtroL vaLve
example: A2B11c3
 
 

soLId set bIG GuN® vaLve
example: A4B18c2d01e01h3
 

INCLuded
hardware

Mount an 800 series Control valve directly to a big Gun® sprinkler with an aNsI base. For control of a pivot end gun with booster pump, 
use the 2” 800p valve (d, e, h accessories not needed). For solid set applications, add a filter, solenoid and/or pressure control to your valve. 

BASe VALVe  AcceSSorieS
A B c d e h

VALVe  
MAteriAL/Size  

connection StyLe 
& hArdWAre 

operAtinG 
preSSure

preSSure/fLoW  
controL

on/off
Mode fiLter

ALuMinuM

A2”
  
 
 

800p-2" piVot
end Gun
B12  
(No studs)

B11  

(4 studs, 4 nuts) 
see chart in upper right 
for hardware included

c2   

30-200 pSi 

 

c3   

18-80 pSi   

c2   

30-200 pSi 

 

c3   

18-80 pSi   

ALuMinuM

A2” 
 

A3”
  

A4”
  

cASt iron

A4”
 

SoLid Set BiG 
Gun VALVe
B17  

2" & 3" valve
(4 studs, 4 nuts)  

4" valve 
(8 studs, 8 nuts)  
see chart in upper 
right for hardware 
included

SoLid Set BiG 
Gun VALVe

B18  
(8 studs, 8 nuts)  
see chart above

none
d01   

reducinG
10-120 pSi

d13  (brass)   

d23  (plastic 2”)   

d33  (plastic 3”)   

d03  (brass 4”)   

MAnuAL
e01  (No solenoid)   

eLectric SoLenoid 
dc  LAtchinG
(voltage, orifice diam.)

e29  (12-40 v, 5/64”)    

Ac  
(voltage, orifice diam.)

e46  (24v, 1/16”)   

h2  
external 

h3*  
Internal 
for 2” 
& 3”

h3   
Internal 
for 4"

58



January 1, 2017

59

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

3-Way Solenoid Specifications (For Electric On-Off choose from dc, dc Latching or ac Solenoids.) 

M
od

eL
 #

MAnufAc-
turer

pArt nuMBerS 
VoLtAGe1

recoMM. 
VALVe 
Size

in-
ruSh 
AMpS

hoLd-
inG 

AMpS

reSiS-
tAnce 
(ohM)

WAttS inLet ori-
fice

eLectri-
cAL con-
nection

MAx. 
preS-
Sure kit coiL 

+BASe coiL

e21 pArker 8925-
001 7510-001 7510-101 12 vdC - - 0.6 20 8 1.6 mm 1/16” 1/2” FNpt w/

Leads 175 psi

e23 BAccArA 8925-
035 7510-052 7510-152 9/12 vdC Lat 2” & 3” - - 4.2 3 1.2 mm 3/64” >12” Leads 175 psi

e29 8925-
029 7510-029 Na 12-40 vdC Lat - - - - - 2 mm 5/64" 47" Leads 175 psi

e30 pArker 8925-
002 7510-002 7510-102 24 vdC 4”, 6”, & 8” - 0.3 83 8 1.6 mm 1/16” 1/2” FNpt w/

Leads 175 psi

e34 BAccArA 8925-
037 7510-054 7510-154 24 vdC 2” & 3” 0.125 0.125 119 3 1.2 mm 3/64” >12” Leads 175 psi

e40 GeM-SoL 8925-
043 7510-015 7510-115 24 vaC 4”, 6”, & 8” 0.15 0.15 diode2 2.5 1.6 mm 1/16” 1/2” FNpt 

plug-In 175 psi

e41 pArker 8925-
003 7510-003 7510-103 24 vaC 4”, 6”, & 8” 1.1 0.65 7.8 8 1.6 mm 1/16” 1/2” FNpt w/

Leads 175 psi

e43 BAccArA 8925-
033 7510-050 7510-150 24 vaC 2” & 3” 0.125 0.125 diode2 3 1.2 mm 3/64” >12” Leads 175 psi

e46 GeM-SoL 8925-
044 7510-016 7510-116 24 vaC - 0.8 0.43 9 5.5 1.6 mm 1/16” 1/2” FNpt 

plug-In 175 psi

e50 pArker 8925-
004 7510-004 7510-104 120 vaC 2", 3", 4”, 6”, 

& 8” 0.2 0.1 184 8 1.6 mm 1/16” 1/2” FNpt w/
Leads 175 psi

e52 pArker 8925-
024 7510-033 7510-133 120 vaC 6” & 8” 0.7 0.3 27 17 3.2 mm 1/8” 1/2” FNpt w/

Leads 175 psi

e53 GeM-SoL 8925-
045 7510-051 7510-151 110 vaC 2” & 3” 0.15 0.11 230 5.5 1.6 mm 1/16” 1/2” FNpt 

plug-In 175 psi

Notes: “Lat” = Latch. the solenoid contains a magnet which holds the coil in the open/closed position, such that a constant current is not required, as in the case of non-latching 
solenoids. If the solenoid contains a diode, the resistance reading obtained using a voltmeter will be inaccurate (extremely high). this is because a diode acts like a check valve 
that only opens when a sufficient amount of “pressure” (voltage) is present. 
               

Two male quick connect fittings are recommended 
with reducing or sustaining functions.

SoLenoidS & 
VALVe AcceSSorieS

desCrIptIoN

4" valve x 6"  
Flange adapter kit

6" valve x 8" 
Flange adapter kit Gauge Male  

QC Fitting
Female  

QC Fitting
Gauge &  

Fittings kit*
1/4" valve 

stem
Lock-on Gauge Chuck 

for 1/4" valve stem
window + Controller 

w/ 12/24 vdC Lat. 

part No.
11433 

11433-001  
(w/6" stud kit)

12225
12225-001  

(w/8" stud kit)

8968-xxx (specify range: 
0-60 psI = -002; 0-100 psI 
= -003; 0-160 psI = -004 ;  

0-200 psI = -005)

9498 9438-002 10105-xxx 10104 10103 E33-1 for 2, 3"
E20-1 for 4, 6, 8"

*Includes 2 valve stems & 1 lock-on chuck

BASe VALVe  AcceSSorieS
A B c d e h

VALVe  
MAteriAL/Size  

connection StyLe 
& hArdWAre 

operAtinG 
preSSure

preSSure/fLoW  
controL

on/off
Mode fiLter

ALuMinuM

A2”
  
 
 

800p-2" piVot
end Gun
B12  
(No studs)

B11  

(4 studs, 4 nuts) 
see chart in upper right 
for hardware included

c2   

30-200 pSi 

 

c3   

18-80 pSi   

c2   

30-200 pSi 

 

c3   

18-80 pSi   

ALuMinuM

A2” 
 

A3”
  

A4”
  

cASt iron

A4”
 

SoLid Set BiG 
Gun VALVe
B17  

2" & 3" valve
(4 studs, 4 nuts)  

4" valve 
(8 studs, 8 nuts)  
see chart in upper 
right for hardware 
included

SoLid Set BiG 
Gun VALVe

B18  
(8 studs, 8 nuts)  
see chart above

none
d01   

reducinG
10-120 pSi

d13  (brass)   

d23  (plastic 2”)   

d33  (plastic 3”)   

d03  (brass 4”)   

MAnuAL
e01  (No solenoid)   

eLectric SoLenoid 
dc  LAtchinG
(voltage, orifice diam.)

e29  (12-40 v, 5/64”)    

Ac  
(voltage, orifice diam.)

e46  (24v, 1/16”)   

h2  
external 

h3*  
Internal 
for 2” 
& 3”

h3   
Internal 
for 4"

59

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com



January 1, 2017

60

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

2" (50 mm) aCv

IMPROVEd aIR 
SEPaRaTION TO 
REdUcE dRIPS 

dURING aIR 
RELEaSE

REINFORcEd 
SEaL PREVENTS 
MISaLIGNMENT 

NEW MaTERIaL 
RESISTaNT TO PUMP 
LUbRIcaNTS

ACV200 AIR 
CONTROL 
VALVE 
9672-004 (bsp); 9672-003 (Npt)

For air relief, vacuum air relief, and 
continuous air release under pressure.

 » pump start-up high capacity air venting
 » pump shut-off vacuum relief
 » Filter backflush
 » vent at high points
 » Continuous air release during  

system operation

ImPROVED DESIgN

DESIgNED fOR uLTImaTE 
fLExIbILITy & TOugh jObS

CONTROL VALVES

2" & 3" 

60



January 1, 2017

61

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

0.01

0.10

1.00

10.00
psi bar

10 1000 gpm50 100 500

P
R

E
S

S
U

R
E

 L
O

S
S

Pressure Loss Data
for 2” & 3” 1000 Series
Inline Valves (fully open)

0.01

0.10

1.00

10.00

10 1000

Pr
es

su
re

 L
os

s (
ps

i)

Flow (gpm)

Nelson Valve Pressure Loss

Nelson 800 Series 2"

Nelson 800 Series 3"

Nelson 800 Series 4"

Nelson 800 Series 6"

Nelson 800 Series 8"

Nelson 1000 Series 2"

Nelson 1000 Series 3"

0.01

0.02

0.03

0.05

0.07
0.10

0.15

0.20

0.30

0.40

0.50

843 5 6 7 10 20 30 40 50 60 80 100 200 m3/h

30

8

.10

0.01

0.02

0.03

0.05

0.07
0.10

0.15

0.20

0.30

0.40

0.50

0.70
1.0

.20

.30

.40

.50

.70

1.0

2.0

3.0

4.0

5.0
6.0
7.0

10.0

20.0

10 20 30 40 50 60 80 100 200

40 50 60 90 100 150 200 300 400 500 600 800 1000

�ow rate

p
re

ss
u
re

 lo
ss

GPM

50 80 100 200

2”
 v

al
ve

3”
 v

al
ve

4”
 v

al
ve

Cv
(gpm @ 1 psi loss)

Kv
(gpm @ 1 psi loss) 

2” (50 mm) 128 113

3” (80 mm) 300 259

3”
 (8

0 
m

m
) v

al
ve

2”
 (5

0 
m

m
) v

al
ve

= Flow (gpm)2

  Cv2

Pressure
Loss (psi)

= Flow(m3/h)2

  Kv2

Pressure 
Loss (bar)

aPPLIcaTIONS
 » zone control for sprinkler or drip irrigated row 
crops, nursery crops, orchards and vineyards.

 » Place valve under big gun® for solid set 
irrigation, end of pivot solutions and a variety 
of environmental controls including fire 
suppression, dust suppression and cooling. 

SaVE WaTER, SaVE ENERgy
 » higher flow capacity & lower friction loss — better than 
any other valve on the market.  

 » more precise, more stable pressure regulation over a 
wider range of flow. 

 » Pressure regulation with minimal pressure differential 
required across the valve.

ThE 1000 SERIES IS gEaRED TO haNDLE 
TOugh agRIcuLTuRaL ENVIRONmENTS

caGE/
baRRIER 
aSSEMbLY

SLEEVE

JackET

SPacER

F
L
A

N
G

E
D

 C
O

N
N

E
C

T
IO

N
S

 
3

”
 V

A
L
V

E
2

”
 V

A
L
V

E
 F

L
E
x

 C
O

N
N

E
C

T
O

IN
S

2” METaL 
aNSI FLaNGE 

(FNPT)

2” VaLVE X 3”  
FLaNGE adaPTER  

& 3” VaLVE X 4” 
FLaNGE adaPTER

THREadEd 
1.25”, 1.5”, 

2” FNPT, & 
1.5”, 2” FbSP

3” Od SPLINE 
(cERTa-SET)

2”, 3” & 4”  
NELSON FLaNGE

PVc SOckET HUb

3” vICtauLIC 

2” & 3” 
VIcTaULIc

61

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com

61



January 1, 2017

62

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

The Nelson TWIG Wireless 

Control System consists of a 

TD200 Controller capable of 

controlling up to 100 TWIGs 

in a programmed sequence. 

The TWIGs are located in the 

field on solenoid operated 

valves. The system operates 

like a conventional hard-wired 

automated irrigation system 

except the underground wires 

have been eliminated and 

replaced by two-way wireless 

radio signals between the 

TD200 and the TWIGs.  The 

TD200 and the TWIGs that it 

controls are referred to as a 

“network”. The TWIG system 

operates in the 900 MHz range 

and does not require a license. 

TD200 CONTROLLER
 » Easy to learn. Easy to use. 

 » Controls up to 100 TWIGs and 200 
valves, individually or in groups, to 
handle very large systems.

 » Reliable, two-way data transfer every  
20 seconds.

 » Multiple start times with multiple irrigation 
programs, easy to set up and use.

 » Irrigation events and water meter 
readings can be data logged.

 » Optional power sources: 110 Volt AC, or 
12 volt DC battery with solar charger.

 » Reads actual battery and radio signal 
strength of each TWIG in the network.

 » TD200 has a factory assigned “network I.D.” 
that is the network that the TWIGs will join.

TD200 cOnTROLLER

Irrigation Automation

TD200

TWIG

TWIG

TWIG

REPEATER

WIRELESS CONTROLS 
Save labor, energy, and water.  

Improve crop yield and grade.

®

62



January 1, 2017

63

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

PRECISION IRRIGATION: 
WATER WHEN YOU NEED IT ... 
ExACTLY THE RIGHT AmOUNT. 

TWIG (VALVE CONTROL)
 » Turns low voltage DC latching solenoids 

on and off at the command of the TD200 
controller

 » Proprietary “Nelson” high powered radio. 
Adjustable between 902 and 924 MHz.

 » Three TWIGs available:

TWIG-1. Operates one solenoid.

TWIG-2. Operates two solenoids, 
independently.

TWIG-4. Operates up to 4 solenoids, 
independently.

 » Power source: Two D-cell batteries, good for 
one irrigation season — shipped with TWIG.

 » Utilizes a proprietary “deep sleep” cycle 
technique to minimize power consumption.

 » Two antenna options: 

Dual internal antennas (standard). 
Provides diversity for better reception, and 
protection from damage. Use where line of 
site is optimal.

External antenna (optional). Use to improve 
signal reception when TWIG does not have 
good line-of-sight, and to extend range of  
communication.

 » The TWIG is packaged in a rugged, field 
ready water resistant box. Ag tough!

 » Joining a TWIG to a network is effortless 
and quick, either on setup of a new 
system, or the addition of a new TWIG to 
an existing network. 

 » TWIG is capable of running a manual 
solenoid test to check solenoid.

 » Each TWIG has a factory assigned ID #. 

TWIG CONTACT
The TWIG Contact contains 4 
latching contacts, incorporated 
into a TWIG radio receiver. 
The TD200 has the ability to 
communicate with the TWIG 
Contact to open and close the 
contacts in order to turn devices 
on and off. 

Optional Power Sources:  
110 Volt AC; 12 Volt DC battery; 
or 2 D-Cell batteries.

 » Requires an external antenna.

 » Contacts rated to one amp 
maximum current. 

TWIG REPEATER
When blind spots or poor commun-
ications occur in a network due to 
vegetation, topography or excessive 
distances, a repeater can be 
installed in the network to facilitate 
communications. The Repeater greatly 
extends the range of the network 
and can bridge obstacles that might 
otherwise block communications. 

 » Automatically directs the radio 
signal where the signal strength is 
greatest, i.e. either directs between 
the TD200 and the TWIG, or 
through the Repeater. 

 » A TWIG network may contain up to 
9 repeaters.

 » Optional Power Sources: 110 Volt 
AC or 12 Volt DC battery with solar 
panel.

 » TWIG Repeaters require an 
external antenna. 

63

Tel: +1 509.525.7660  /  Fax: +1 509.525.7907  /  nelsonirrigation.com   /  info@nelsonirrigation.com

63



January 1, 2017

64

Toll Free: 800-246-3685
Phone: 402-246-3685

Fax: 402-246-2072

Your Irrigation Superstore
Email: irrigate@schumacherirrigation.com
www.schumacherirrigation.com

WaRRaNTY & dIScLaIMER: Nelson Irrigation products are warranted for one year from the date of original sale to be free of defective material and work-
manship when used within the working specifications for which the product was designed and under normal use and service. The manufacturer assumes no 
responsibility for installation, removal or unauthorized repair of defective parts and the manufacturer will not be liable for any crop or other consequential 
damages resulting from any defects or breach of warranty. THIS WaRRaNTY IS EXPRESSLY IN LIEU OF aLL OTHER WaRRaNTIES, EXPRESS OR IMPLIEd, 
INcLUdING THE WaRRaNTIES OF MERcHaNTabILITY aNd FITNESS FOR PaRTIcULaR PURPOSES aNd OF aLL OTHER ObLIGaTIONS OR LIabILITIES OF 
MaNUFacTURER. No agent, employee or representative of the manufacturer has authority to waive, alter or add to the provisions of this warranty nor to 
make any representations or warranty not contained herein. 

 
big Gun, Geocropical, Overlap, Rotator, Sprinklerchart and TWIG are registered trademarks of Nelson Irrigation corporation. copyright © 2017 Nelson Irrigation corporation.

848 airport road, walla walla, washington 99362 u.s.a.
tel: +1 509.525.7660  /  Fax: +1 509.525.7907 
info@nelsonirrigation.com  /  nelsonirrigation.com

iMAGined, enGineered & 
MAnufActured With intent

neLSon irriGAtion corporAtion iS fuLLy coMMitted to iMproVinG 
AGricuLturAL irriGAtion. We BeLieVe in our peopLe & our productS And We 
continue to inVeSt in StAte-of-the-Art MAnufActurinG proceSSeS to enSure 
you receiVe the MoSt effectiVe WAter AppLicAtion SoLution poSSiBLe. 


